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PART  A   ENGLISH    
 

1. The Deputy Manager ____ to resign because all his proposals were ____ down by his superiors 

 A) Offered; Thrown B) Gave; Held C) Began; Kept D) Threatened; Turned 

  

2. The director has ___ me to ___ a speech for him. 

 A) Notified; Do B) Demanded; Prepare C) Entrusted; Write D) Commissioned; Draft 

 

3. Choose one option which would appropriately fill in all the blanks in the given sentence: “Can we make such   

a ___ disqualifying persons against whom charges of heinous crimes have been framed by courts of ____ or 

should we tell the parliament that by not laying down such a ___, you are really giving criminals 

encouragement and hope? 

 A) Norms B) Authority C) Law D) Idea 

 

4. Choose one option which would appropriately fill in all the blanks in the given sentence: 

 “Currently, the ___ has powers to seek call data records as part of its probes, but the committee is of the view 

that the ____ needs more powers to assist in its____ responsibilities.” 

 A) State B) Dictator C) Regulator D) Party 

 

5. Choose one option which would appropriately fill in all the blanks in the given sentence: 

 “The bilingual channel (Hindi and English) will offer scheduled programming as well as video on demand 

facility. According to the India _____ website, it will cover the ‘entire landscape’ of _____ and technology 

including engineering, health and medicine, natural ____, environment and wildlife, agriculture among others. 

 A) Biological B) Atmosphere C) Science D) Physical 

 

6. Choose one option which would appropriately fill in all the blanks in the given sentence: 

 “Till Wednesday night, revenue authorities were expecting only a limited release of ____ through a single 

shutter, resulting in rise in ___ level of Periyar by around only one metre. But with all four shutters being 

opened, there is, a yet, no clear idea about the expected rise in ____ levels in the Periyar. 

 A) Grants B) Water C) Funds D) Support 

 

7. From the given options choose the word which is an antonym (opposite in meaning) to BOISTEROUS 

 A) Serenity B) Calm C) Cheerful D) Courageous 

 

8. From the given options choose the word which is an antonym (opposite in meaning) to DOLEFUL 

 A) Aggressive B) Cheerful C) Tired D) Involved 

 

9. From the given options choose the word which is an antonym (opposite in meaning) to ACRIMONY 

 A) Courtesy B) Flourish C) Tender D) Novelty 

 

10. From the given options choose the word which is a synonym (similar in meaning) to PENSIVE 

 A) Reluctant B) Unhappy C) Contemplative D) Precise 

 

11. From the given options choose the word which is a synonym (similar in meaning) to VACILLATE 

 A) Waver B) Quiver C) Never D) Queer 
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12. From the given options choose the word which is a synonym (similar in meaning) to ABASH 

 A) Confound B) Amass C) Lessen D) Clumsy 

 

13. Which option best explains the meaning of the word CHARY 

 A) Cautious B) Docile C) Criticize D) Hidden 

 

14. Which option best explains the phrase, “Prime the Pump” 

 A) To do something in order to make something succeed 

 B) To do good things to succeed in life 

 C) To do something in order to get bad things done 

 D) Asking people to do things to make something succeed 

 

15. Which option best explains the phrase, “Casting pearls before swine” 

 A) Speaking nice words and convincing them B) Offering good things to undeserving people 

 C) Uplifting the needy for their welfare D) Doing worthwhile things to unknown people 

 

16. Which option best replaces the phrase “Insatiable Desire For Wealth” 

 A) Selfish B) Egoistic C) Avarice D) Generosity 

 

17. Which option best replaces the phrase “To Die Without Making a Will” 

 A) Inane B) Indigent C) Inure D) Intestate 

 

18. Choose the option which best explains the sentence; “Being a conscientious worker, he never shirks work.” 

 A) Scrupulous B) Formal C) Intelligent D) Praiseworthy 

 

19. Choose the option which best explains the sentence; “He is popular with his friends on account of his 

complaisant nature.” 

 A) Friendly  B) Obliging C) Joyful D) Clever 

 

20. Choose the option which best explains the sentence; “We should not cast aspersion on our friends.” 

 A) Slander B) Savagery C) Prohibition D) Desire 

 

21. Choose the option which best explains the sentence; “The poem is explained properly by the help of many 

allusions.” 

 A) approach B) propaganda C) Passing reference D) Increase interest 

 

22. Choose the option which makes the existing sentence better, if no improvement is required then choose option 

D: “The police cordoned off the area after the explosion” 

 A) The police filled the whole area B) The police isolated the area 

 C) The police checked everyone in the area D) No improvement 

 

23. Choose the option which makes the existing sentence better, if no improvement is required then choose option 

D: “I really do regret not to learn to play the violin when I had so many opportunities to learn and practice in 

school.” 

 A) To learn and practice in school B) When I had so many opportunities 

 C) I really do regret not to learn to play the violin D) No error 

 



1938 M_22 (A) 4

24. Choose the option which has grammatical error in sentence 

 Over half of China’s 1.4 billion population lives in villages and the most pressing problems faces the country 

today is the lack of rural reforms. 

 A) Over half of China’s 1.4 billion population B) Lives in villages and the most pressing 

 C) Problems faces the country today D) Is the lack of rural reforms 

 

25. Choose the option which has grammatical error in sentence 

 The government plans to launch a new healthcare system which consists of a website where people can register 

for insurance a data centre which stores, records and an interface which provides insurance companies with 

information. 

 A) The government plans to launch a new healthcare system  

 B) Which consists of a website where people can register for insurance 

 C) a data centre which stores, records and an interface 

 D) Which provides insurance companies with information 

 

26. Choose the option which is similar in meaning to the idiom in the sentence: “The Politician was able to Sway 

the mob with his gift of the gab” 

 A) Fluency of speech B) Flattering words C) Abundance of promises D) Political foresight 

 

27. Choose the option which is similar in meaning to the idiom in the sentence: “Don’t ride roughshod over a 

person when he is down and out.” 

 A) To treat in a high handed fashion B) To annoy 

 C) To dominate  D) To distract 

 

28. The option which is similar in meaning to the idiom in the sentence: “After the thieves had ransacked the 

house, everything was pell-mell.” 

 A) Obstructed B) Futile labor C) Great confusion D) Scattered 

 

29. Choose the option which is similar in meaning to the idiom, “At the helm of” 

 A) At the edge of the ship  B) At the main situation 

 C) In the centre of a storm  D) In the centre of the ship 

 

30. Choose the option which is similar in meaning to the idiom, “Make no bones about” 

 A) To make no effort  B) To admit something readily 

 C) To make fuss about  D) To create no hindrance 

 

31. Man who has committed such an ____ crime must get the most severe punishment. 

 A) Injurious B) Uncharitable C) Unworthy D) Abominable 

 

32. Find the part which has error and mark that as your answer 

 A) It was him B) Who came C) Running D) Into the classroom 

 

33. Find the part which has error and mark that as your answer 

 A) The captain along with his team B) Are practicing very hard 

 C) For the  D) Forth coming matches 
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34. Find the part which has error and mark that as your answer 

 A) It is common B) Knowledge that each C) Of us D) Loves our home 

 

35. Select the pair which has the same relationship as ‘GRAIN:SALT’ 

 A) Shard : Poetry B) Shred : Wood C) Blades : Grass D) Chip : Glass 

 

36. Select the pair which has the same relationship as ‘PAIN : SEDATIVE’ 

 A) Comfort : Stimulant B) Grief : Consolation C) Trance : Narcotic D) Ache : Extraction 

 

37. Find the correctly spelt word 

 A) Uniquely B) Internaly C) Coldlly D) Fortunatelly 

 

38. Find the correctly spelt word. 

 A) Sepulchral B) Sepilchrle C) Sepalchrul D) Sepalchrl 

 

39. The miser gazed ____ at the pile of gold coins in front of him. 

 A) Admiringly B) Thoughtfully C) Avidly D) Earnestly 

 

40. The paths of glory lead ____ to the grave. 

 A) Straight B) But C) In D) Directly 
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PART B (a)    General Intelligence and Reasoning in Science 

भागभागभागभाग    B (a)   िव�ानिव�ानिव�ानिव�ान    म�म�म�म�    सामा	यसामा	यसामा	यसामा	य    �ान�ान�ान�ान    औरऔरऔरऔर    तक
तक
तक
तक
     िवतक
िवतक
िवतक
िवतक
  
 

41. First successful heart transplant operation was done by___ 

 A) DS Paintal B) CN Barnard C) D Shetty D) PK Sen 

 henuee meheÀue Ëo³e Òel³eejesheCe Dee@hejsMeve ___ Üeje efJeÀ³ee ie³ee Lee 
 A) [erSme hesbìue B) meerSve yeve&e[& C) [er MesÆer D) heerJesÀ mesve 
 

42. What happens in the rusting of iron? 

 A) Decomposition B) Displacement C) Oxidation D) Reduction 

 ueesns cesb pebie ueieves hej JeÌ³ee neslee nw? 
 A) me›ve B) efkemLeeheve C) Dee@JeÌmeerJeÀjCe D) Dehe®ee³eve 
 

43. Potassium permanganate is used in the purification of drinking water because it: 

 A) Is a reducing agent  B) Is an oxidizing agent 

 C) Is a bonding agent  D) Dissolves the impurities of water 

 heerves JesÀ heeveer JesÀ MegefàJeÀjCe cesb heesìsefMe³ece hejcewbievesì JeÀe Ghe³eesie efJeÀ³ee peelee nw JeÌ³eesbefJeÀ ³en : 
 A) SJeÀ Dehe®ee³eJeÀ heoeLe& nw  B) SJeÀ Dee@JeÌmeerJeÀejJeÀ heoeLe& nw  
 C) SJeÀ yee@efv[bie Spesbì nw  D) heeveer JeÀer DeMegefà³eesb JeÀes Ieesuelee nw 
 

44. What is the chemical name of chalk? 

 A) Calcium Sulphate B) Calcium Nitrate C) Calcium Carbonate D) Calcium Phosphide 

 ®eeJeÀ JeÀe jemee³eefveJeÀ veece JeÌ³ee nw? 
 A) JewÀefuMe³ece meuhesÀì B) JewÀefuMe³ece veeFì£sì C) JewÀefuMe³ece JeÀeyees&vesì D) JewÀefuMe³ece heÀemheÀeF[ 
 

45. Other name for bio gas is 

 A) Helium gas B) Carbon gas C) Gobar gas D) Ethane gas 

 yee³ees iewme JeÀe otmeje veece nw 
 A) nerefue³ece iewme B) JeÀeye&ve iewme C) ieesyej iewme D) F&Lesve iewme 
 

46. Which of the following is not a fossil fuel? 

 A) Coal B) Oil C) Peat D) Electricity 

 efvecveefueefKele cesb mes JeÀewve mee peerkeeMce F&bOeve venerb nw? 
 A) JeÀes³euee B) lesue C) heerì D) efyepeueer 
 

47. Which of the following is not biodegradable? 

 A) Woolen mat B) Silver foil C) Leather bag D) Jute basket 

 efvecveefueefKele cesb mes JeÌ³ee pewke efvecveerJeÀjCeer³e venerb nw? 
 A) GÀveer ®eìeF& B) heefCe&JeÀe C) ®ece›s JeÀe Lewuee D) petì JeÀer ìesJeÀjer 
 

48. The explosive nitroglycerine is a 

 A) Salt B) Nitro hydrocarbon C) Complex hydrocarbon D) Ester 

 efkemheÀesìJeÀ veeFì£esefiuemejerve JeÌ³ee nw? 
 A) meeuì B) veeFì£es neF[£esJeÀeye&ve C) JeÀe@chuesJeÌme neF[£esJeÀeye&ve D) Smìj 
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49. RDX is 

 A) Recently developed explosive B) Research developed explosive 

 C) Really descent explosive D) Rectified developed explosive 

 Deej[erSJeÌme JeÌ³ee nw? 
 A) efjmesbìueer [skeueh[ SJeÌmehueesefmeke B) efjme®e& [skeueh[ SJeÌmehueesefmeke 
 C) efj³eueer ef[mesbì SJeÌmehueesefmeke  D) jsefJeÌìheÀeF[ [skeueh[ SJeÌmehueesefmeke 
 

50. The smog is the combination of 

 A) Air and water vapour B) Water and smoke C) Fire and water D) Smoke and fog 

 mcee@ie efJeÀmeJeÀe meb³eespeve nw? 
 A) kee³eg Deewj peue kee<he B) heeveer Deewj OegDeeb C) Deeie Deewj heeveer D) dOegDeeb Deewj JeÀesnje 
 

51. The bond found in NaCl is 

 A) Ionic B) Covalent C) Coordinate D) H-bond 

 NaCl cesb hee³ee peeves keeuee DeeyebOe nw 
 A) Dee³eveerJeÀ B) menmeb³eespeer C) JeÀesDeeef[&vesì D) dS®e-yebOeve 
 

52. In total internal reflection, the light travels from –  

 A) Rarer to denser medium and it occurs with no loss of intensity 

 B) Denser to rarer medium and it occurs with no loss of intensity 

 C) Rarer to denser medium and it occurs with loss of intensity 

 D) Denser to rarer medium and it occurs with loss of intensity 

 hetCe& DeebleefjJeÀ hejekele&ve cesb, ÒeJeÀeMe efJeÀmemes ieceve JeÀjlee nw - 
 A) efkejue mes meIeve ceeO³ece Deewj ³en leerkeÏlee JesÀ vegJeÀmeeve JesÀ efyevee neslee nw 
 B) meIeve mes efkejue ceeO³ece Deewj ³en leerkeÏlee JesÀ vegJeÀmeeve JesÀ efyevee neslee nw 
 C) efkejue mes meIeve ceeO³ece Deewj ³en leerkeÏlee JesÀ vegJeÀmeeve JesÀ meeLe neslee nw 
 D) meIeve mes efkejue ceeO³ece Deewj ³en leerkeÏlee JesÀ vegJeÀmeeve JesÀ meeLe neslee nw 
 

53. Parsec is the unit of 

 A) Distance B) Magnetic force C) Shining of light D) Time 

 heejmesJeÀ efJeÀmeJeÀer FJeÀeF& nw? 
 A) otjer B) ®egbyeJeÀer³e yeue C) ÒeJeÀeMe JeÀer ®eceJeÀ D) mece³e 
 

54. Which of the following is not the unit of time? 

 A) Leap year B) Lunar months C) Light year D) None of these 

 efvecveefueefKele cesb mes JeÌ³ee mece³e JeÀer FJeÀeF& venerb nw? 
 A) DeefOeke<e& B) ®ebê ceeme C) ÒeJeÀeMe ke<e& D) Fvecesb mes JeÀesF& venerb 
 

55. Which of the following pair doesn’t have the same dimension? 

 A) Force and pressure B) Pressure and stress C) Impulse and momentum D) Work and energy 

 efvecveefueefKele cesb mes efJeÀme ³egice JeÀe Dee³eece meceeve venerb nw? 
 A) yeue Deewj oyeeke B) oyeeke Deewj leveeke C) Deekesie Deewj ieefle D) JeÀece Deewj GÀpe&e 
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56. Which of the following is not matched? 

 A) Decibel-unit of sound  B) Horse Power- unit of power 

 C) Nautical mile- unit of distance D) Celsius –unit of time 

 efvecveefueefKele cesb mes JeÀewve mee megcesefuele venerb nw? 
 A) [sefmeyeue-Okeefve JeÀer FJeÀeF&  B) DeMke MeefJeÌle- MeefJeÌle JeÀer FJeÀeF& 
 C) mecegêer ceerue- otjer JeÀer FJeÀeF&  D) mesefume³eme - mece³e JeÀer FJeÀeF& 
 

57. A cricket player catches a fast coming ball by pulling his hands back because – 

 A) The ball can come to a position of rest B) The ball can be accelerated 

 C) The ball can exert a larger force D) The ball can exert a lesser force 

 SJeÀ efJe´ÀJesÀì efKeuee›er lespeer mes Deeves keeueer iesbo JeÀes neLe heerís Keerb®eJeÀj heJeÀ›lee nw JeÌ³eesbefJeÀ - 
 A) iesbo Deejece JeÀer efmLeefle cesb Dee meJeÀleer nw B) iesbo JeÀes lkeefjle efJeÀ³ee pee meJeÀlee nw 
 C) iesbo DeefOeJeÀ yeue [eue meJeÀleer nw D) iesbo JeÀce yeue [eue meJeÀleer nw 
 

58. The echo is produced by the sound waves due to – 

 A) Reflection of sound  B) Scattering of sound  

 C) Refraction of sound  D) None of these 

 Okeefve lejbieesb Üeje ÒeefleOkeefve Glhevve nesleer nw JeÌ³eesbefJeÀ - 
 A) Okeefve JeÀe hejekele&ve neslee nw  B) Okeefve JeÀe ÒeJeÀerCe&ve neslee nw  
 C) Okeefve JeÀe Dehekele&ve neslee nw  D) Fvecesb mes JeÀesF& venerb 
 

59. Cryogenics are used in 

 A) Space journey, surgical orks and magnetic resonance 

 B) Surgical works, magnetic resonance and remote sensing 

 C) Space journey, surgical works and remote sensing 

 D) Space journey, magnetic resonance and remote sensing 

 Je´Àe³eespesefveJeÌme JeÀe Òe³eesie efJeÀ³ee peelee nw 
 A) Debleefj#e ³ee$ee, meefpe&JeÀue JeÀe³e& Deewj ®egbyeJeÀer³e Devegveeo 
 B) meefpe&JeÀue JeÀe³e&, ®egbyeJeÀer³e Devegveeo Deewj efjceesì mesbefmebie 
 C) Debleefj#e ³ee$ee, meefpe&JeÀue JeÀe³e& Deewj efjceesì mesbefmebie 
 D) Debleefj#e ³ee$ee, ®egbyeJeÀer³e Devegveeo Deewj megotj mebkesove 
 

60. The dew doesn’t form in fast wind blowing during the night because – 

 A) The rate of vaporization is fast B) There is lacking of moisture in the wind 

 C) The temperature remains high D) The sky is not clear 

 jele JesÀ mece³e lespe nkee ®eueves hej Deesme venerb yeveleer JeÌ³eesbefJeÀ - 
 A) kee<heerJeÀjCe JeÀer oj lespe nesleer nw B) nkee cesb veceer JeÀer JeÀceer nesleer nw 
 C) leeheceeve DeefOeJeÀ jnlee nw  D) Deemeceeve meeheÀ venerb nw 
 

61. The colour of an opaque object is due to that colour which is – 

 A) Absorbed B) Not reflected C) Reflected D) Scattered 

 SJeÀ DeheejoMeer& kemleg JeÀe jbie Gme jbie JesÀ JeÀejCe neslee nw pees - 
 A) DekeMeesef<ele nes peelee nw B) hejekeefle&le venerb neslee nw  C) hejekeefle&le neslee nw D) ÒeJeÀerefCe&le neslee nw 
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62. Which of the following is required for absorption of B12? 

 A) Trypsin B) Intrinsic Factor C) R protein D) All of the above 

 B12 JesÀ DekeMees<eCe JesÀ efueS efvecveefueefKele cesb mes JeÌ³ee DeekeM³eJeÀ nw? 
 A) efì£efhmeve B) Fbefì£efmeJeÀ hewÀJeÌìj C) Deej Òeesìerve D) GÀhej JesÀ meYeer 
 

63. An infected person is less likely to encounter a susceptible person when a large proportion of the members of 

the group are immune 

 A) Active immunity B) Passive immunity C) Herd immunity D) Specific immunity 

 peye mecetn JesÀ meom³eesb JeÀe SJeÀ ye›e efnmmee Òeeflejef#ele neslee nw lees SJeÀ mebJe´Àefcele k³eefJeÌle JesÀ SJeÀ DeeflemebkesoveMeerue k³eefJeÌle JesÀ mebheJeÀ& cesb Deeves JeÀer 
mebYeekevee JeÀce nesleer nw 

 A) meefJe´À³e Òeeflej#ee B) efve<eefJe´À³e Òeeflej#ee C) Pegb[ Òeeflej#ee D) efkeefMeä Òeeflej#ee 
 

64. An endoscope, used by doctors to examine the inside of a patient’s stomach works on the principle of: 

 A) Reflection of light  B) Dispersion of light 

 C) Refraction of light  D) Total internal reflection of light 

 SJeÀ Sb[esmJeÀeshe, efpemeJeÀe Ghe³eesie [e@JeÌìjesb Üeje jesieer JesÀ hesì JesÀ Deboj JeÀer peeb®e JesÀ efueS efJeÀ³ee peelee nw, efJeÀme efmeàeble hej JeÀece JeÀjlee nw: 
 A) ÒeJeÀeMe JeÀe hejekele&ve  B) ÒeJeÀeMe JeÀe ÒeJeÀerCe&ve  
 C) ÒeJeÀeMe JeÀe Dehekele&ve  D) ÒeJeÀeMe JeÀe hetCe& DeebleefjJeÀ hejekele&ve 
 

65. The process of Zinc lamination (coating) on the iron is called: 

 A) Galvanization B) Electroplating C) Ionization D) None of these 

 ueesns hej efpebJeÀ uesefcevesMeve (JeÀesefìbie) JeÀer ÒeefJe´À³ee JeÀnueeleer nw: 
 A) iewuekeeveerJeÀjCe B) efkeÐegle uesheve C) Dee³eveerJeÀjCe D) Fvecesb mes JeÀesF& venerb 
 

66. One astronomical unit is the average distance between 

 A) The Earth and Sun B) The Earth and Moon C) The Jupiter and Sun D) The Pluto and Sun 

 SJeÀ Keieesueer³e FJeÀeF& efJeÀmeJesÀ yeer®e JeÀer Deewmele otjer nw 
 A) heÉLkeer Deewj met³e& B) heÉLkeer Deewj ®ebêcee C) yeÉnmheefle Deewj met³e& D) huetìes Deewj met³e& 
 

67. The technique used to identify specific DNA sequence in bacterial colonies is 

 A) Colony hybridization B) In situ hybridization C) Dot blot technique D) Western blotting 

 peerkeeCeg JeÀe@ueesefve³eesb cesb efkeefMeä [erSveS DevegJe´Àce JeÀer hen®eeve JeÀjves JesÀ efueS Fmlesceeue JeÀer peeves keeueer leJeÀveerJeÀ nw 
 A) JeÀe@ueesveer neFefyeÏ[eF&pesMeve B) Fve efmeìt neFefyeÏ[eF&pesMeve C) [e@ì yuee@ì leJeÀveerJeÀ D) kesmìve& yuee@efìbie 
 

68. ELISA test famous for testing HIV is based on 

 A) Antigen-antibody interaction B) Antigen-protein interaction 

 C) Lectin-antibody interaction D) All of these 

 S®eDeeF&keer hejer#eCe JesÀ efueS Òeefmeà Sefuemee (HIV) hejer#eCe efJeÀme hej DeeOeeefjle nw? 
 A) Sbìerpeve-Sbìeryee@[er FbìjwJeÌMeve  B) Sbìerpeve-Òeesìerve FbìjwJeÌMeve  
 C) uesefJeÌìve-Sbìeryee@[er FbìjwJeÌMeve  D) ³es meYeer 
 

69. The vectors commonly used for sequencing human genome 

 A) Yeast artificial chromosome B) Plasmid 

 C) CMV vectors  D) M13 vectors 

 Deeceleewj hej ceeveke peerveesce DevegJe´ÀceCe JesÀ efueS Ghe³eesie efJeÀS peeves keeues kewJeÌìj nwb 
 A) Keceerj JeÉÀef$ece iegCemet$e  B) hueeefpce[  
 C) meerScekeer kewJeÌìj  D) Sce13 kewJeÌìj 
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70. Salt and sugar preserve foods because they 

 A) Make them acidic  B) Produce a hypotonic environment 

 C) Depletes nutrients  D) Produce a hypertonic environment 

 veceJeÀ Deewj ®eerveer KeeÐe heoeLees&b JeÀes mebjef#ele JeÀjles nwb JeÌ³eesbefJeÀ kes 
 A) Gvnsb Decueer³e yevee osles nwb  B) SJeÀ neFheesìesefveJeÀ keeleekejCe lew³eej JeÀjles nwb 
 C) hees<eJeÀ lelkeesb JeÀes veä JeÀjles nwb  D) SJeÀ neFhejìesefveJeÀ keeleekejCe lew³eej JeÀjles nwb 
 

71. The best immediate treatment for a chemical splash to the eye is 

 A) Neutralization of the chemical with an alkali B) Cold compresses 

 C) Ocular Lubricants  D) Copious Irrigation with water 

 DeebKe cesb jmee³eve JesÀ íerbìs ®eues peeves hej meyemes De®íe lelJeÀeue Ghe®eej nw 
 A) #eej mes jmee³eve JeÀe efve<ÒeYeekeerJeÀjCe B) JeÀesu[ JebÀÒesme 
 C) ves$e mvesnJeÀ  D) heeveer mes De®íer lejn Oeesvee 
 

72. Which of the following conditions is the most likely to occur following a corneal abrasion? 

 A) Epithelial basement membrane dystrophy B) Corneal hydrops 

 C) Keratoconus  D) Recurrent Erosion 

 JeÀe@efve&³ee JesÀ Ie<e&Ce JesÀ yeeo efvecveefueefKele cesb mes JeÀewve meer efmLeefle nesves JeÀer meyemes DeefOeJeÀ mebYeekevee nw? 
 A) SefheefLeefue³eue yesmecesbì cescyeÏsve JeÀe og<hees<eCe B) JeÀe@efve&³eue neF[£eshme 
 C) JesÀjeìesJeÀesveme  D) Deekele&JeÀ #ejCe 
 

73. Blood group was discovered by 

 A) Altmann B) Landsteiner C) Losch D) Ronald Ross 

 jJeÌle mecetn JeÀer Keespe efJeÀmeJesÀ Üeje JeÀer ieF& Leer? 
 A) Dee@uìcewve B) uewb[mìervej C) ueesMe D) jesveeu[ je@me 
 

74. The dried flower buds are used as a spice in 

 A) Cardamom B) Cinnamon C) Cloves D) Saffron 

 metKeer JeÀefue³eesb JeÀe Ghe³eesie efJeÀme cemeeues JesÀ ªhe cesb efJeÀ³ee peelee nw 
 A) Fuee³e®eer B) oeue®eerveer C) ueewbie D) JesÀmej 
 

75. Which one of the following is not a true fish? 

 A) Silver fish B) Saw fish C) Hammer fish D) Sucker fish 

 efvecveefueefKele cesb mes JeÌ³ee me®e cesb SJeÀ ceíueer venerb nw? 
 A) efmeukej efheÀMe B) mee@ efheÀMe C) nwcej efheÀMe D) meJeÀj efheÀMe 
 

76. Which one of the following is related to silviculture? 

 A) Culture of Hilsa  B) Culture of Silver Carp 

 C) Culture of oil producing plants D) Forest crops 

 efvecveefueefKele cesb mes JeÌ³ee efmeefukeJeÀu®ej mes mebyebefOele nw? 
 A) efnumee heeueve  B) efmeukej JeÀehe& JeÀe heeueve  
 C) lesue GlheeoJeÀ heewOeesb JeÀe heeueve D) kev³e heÀmeuesb 
 

77. Which one of the following is not a plant product? 

 A) Caffeine B) Piperine C) Nicotine D) Saccharin 

 efvecveefueefKele cesb mes JeÌ³ee SJeÀ heeohe Glheeo venerb nw? 
 A) JewÀheÀerve B) heeFheefjve C) efveJeÀesìerve D) meeJeÀejerve 
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78. In which of the following groups, animals bear no teeth? 

 A) Peacock, Ostrich, Tortoise B) Owl, Loris, Crow 

 C) Alligator, Turtle, Tortoise D) Turtle, Kiwi, Cow 

 efvecveefueefKele cesb mes efJeÀme mecetn cesb peevekejesb JesÀ oeble venerb nesles nwb? 
 A) ceesj, Meglegjcegie&, JeÀígDee  B) Guuet, ueesefjme, JeÀewkee  
 C) ceiejce®í, ìì&ue, JeÀígDee  D) JeÀígDee, JeÀerkeer, iee³e 
 

79. The tissue in man where no cell division occurs after birth is 

 A) Skeletal B) Nerves C) Connective D) Germinal 

 ceveg<³e cesb ken GÀleJeÀ efpemecesb pevce JesÀ yeeo JeÀesF& JeÀesefMeJeÀe efkeYeepeve venerb neslee nw? 
 A) JebÀJeÀeue B) lebef$eJeÀeDeesb C) meb³eespeer D) peefce&veue 
 

80. Which of the following is the first calculating device? 

 A) Abacus B) Calculator C) Turing Machine D) Pascaline 

 efvecveefueefKele cesb mes JeÀewve henuee JewÀueJegÀuesefìbie ef[keeFme nw? 
 A) DeyesJeÀme B) JewÀueJegÀuesìj C) ìîetefjbie ceMeerve D) heemJeÀueeFve 
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PART B (b) :  Basic Accounting Principles          

भागभागभागभाग    B (b)     :  :  :  :  मूलमूलमूलमूल    लखेांकनलखेांकनलखेांकनलखेांकन    िस�ांतिस�ांतिस�ांतिस�ांत    
 

41. Receipts and Payments Account is prepared by 

 A) Manufacturing concerns B) Non-Trading concerns 

 C) Trading concerns  D) Companies registered under Companies Act, 1956 

 Òeeefhle Skeb Yegieleeve Keelee efJeÀmeJesÀ Üeje lew³eej efJeÀ³ee peelee nw 
 A) efkeefvece&eCe heÀce&  B) iewj-k³eeheeefjJeÀ heÀce&  
 C) k³eeheeefjJeÀ heÀce&  D) JebÀheveer DeefOeefve³ece, 1956 JesÀ lenle hebpeerJeÉÀle JebÀheefve³eeb 
 

42. Owners equity stands for 

 A) Fixed Assets minus Fixed Liabilities. B) Fixed Assets minus Current Liabilities. 

 C) Current Assets minus Fixed Liabilities. D) Total Assets minus Total outside Liabilities 

 Deesveme& FefJeÌkeìer JeÀe celeueye nw 
 A) efmLej heefjmebheefÊe³eeb ceeFveme efmLej os³eleeSb B) efmLej heefjmebheefÊe³eeb ceeFveme ceewpetoe os³eleeSb 
 C) ceewpetoe heefjmebheefÊe³eeb ceeFveme efmLej os³eleeSb D) JegÀue mebheefÊe ceeFveme JegÀue yeenjer os³eleeSb 
 

43. Which of the following will result into sources of funds? 

 (i) Increase in current assets (ii) Decrease in current assets 

 (iii) Increase in current liabilities (iv) Decrease in current liabilities 

 Codes: 

 A) (i) and (iv) B) (ii) and (iii) C) (i) and (iii) D) (ii) and (iv) 

 efvecveefueefKele cesb mes JeÀewve mee Oeve JesÀ ñeesleesb cesb heefjCele nesiee? 
 ceewpetoe heefjmebheefÊe³eesb cesb keÉefà ceewpetoe heefjmebheefÊe³eesb cesb JeÀceer ceewpetoe os³eleeDeesb cesb keÉefà ceewpetoe os³eleeDeesb cesb JeÀceer 
 JeÀes[dme: 
 A) (i) Deewj (iv) B) (ii) Deewj (iii) C) (i) Deewj (iii) D) (ii) Deewj (iv) 

 

44. The funds available with a company after paying all claims including tax and dividend is called 

 A) Net Profit B) Net Operating Profit C) Capital Profit D) Retained Earnings 

 JeÀj Deewj ueeYeebMe meefnle meYeer oekeesb JeÀe Yegieleeve JeÀjves JesÀ yeeo SJeÀ JebÀheveer JesÀ heeme GheueyOe OevejeefMe JeÀnueeleer nw 
 A) Megà ueeYe B) Megà heefj®eeueve ueeYe C) hetbpeeriele ueeYe D) ÒeefleOeeefjle Dee³e 
 

45. Income and Expenditure Account of non-profit organisation is a 

 A) Real Account  B) Nominal Account 

 C) Personal Account  D) Representative Personal Account 

 iewj-ueeYeJeÀejer mebieþve JeÀe Dee³e Deewj k³e³e Keelee nw  
 A) keemleefkeJeÀ Keelee B) veececee$e Keelee C) k³eefJeÌleiele Keelee D) ÒeefleefveefOe k³eefJeÌleiele Keelee 
 

46. Which one is related with micro financing? 

 A) SHG B) Anganwadi workers C) Women Entrepreneurs D) None of the above 

 met#ce efkeÊe hees<eCe mes JeÀewve mee mebyebefOele nw? 
 A) SmeS®epeer B) Deebievekee›er JeÀe³e&JeÀle&e C) ceefnuee GÐeceer D) Ghe³e&gJeÌle cesb mes JeÀesF& venerb 
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47. The Securities and Exchange Board of India was not entrusted with the function of 

 A) Investor Protection  B) Ensuring Fair practices by companies 

 C) Promotion of efficient services by brokers D) Improving the earnings of equity holders 

 Yeejleer³e ÒeefleYetefle Deewj efkeefvece³e yees[& JeÀes JeÀewve mee JeÀe³e& venerb meewbhee ie³ee Lee 
 A) efvekesMeJeÀ mebj#eCe  B) JebÀheefve³eesb Üeje Gef®ele ÒeLeeDeesb JeÀes megefveefM®ele JeÀjvee 
 C) oueeueesb Üeje JegÀMeue meskeeDeesb JeÀes yeæ{evee~ D) FefJeÌkeìer OeejJeÀesb JeÀer JeÀceeF& cesb megOeej 
 

48. Minimum Alternative Tax (MAT) under Sec.115 JB of the Income Tax Act is applicable on 

 A) Partnership firm  B) Association of persons 

 C) Certain companies  D) All types of companies 

 Dee³eJeÀj DeefOeefve³ece JeÀer Oeeje 115 pesyeer JesÀ lenle v³etvelece kewJeÀefuheJeÀ JeÀj (SceSìer) efJeÀme hej ueeiet neslee nw 
 A) meePesoejer heÀce&  B) k³eefJeÌle³eesb JeÀe mebIe  
 C) JegÀí JebÀheefve³eeb  D) meYeer ÒeJeÀej JeÀer JebÀheefve³eeb 
 

49. Under capital gains head of the Income Tax Act, the income from sale of Household Furniture is 

 A) Taxable Income B) Capital Gain C) Revenue Gain D) Exempted Income 

 Dee³eJeÀj DeefOeefve³ece JesÀ hetbpeeriele ueeYe ceo JesÀ lenle, Iejsuet heÀveer&®ej JeÀer efyeJe´Àer mes nesves keeueer Dee³e nw 
 A) JeÀj ³eesi³e Dee³e B) hetbpeeriele ueeYe C) jepemke ueeYe D) ítì Òeehle Dee³e 
 

50. Match the items of the following two lists and indicate the correct answer: 

 List – I  List – II 

 (i) Earning ability of firm  (a) Basis of Accounting 

 (ii) Conservatism  (b) P/V ratio 

 (iii) Cash profit  (c) Cash flow statement 

 (iv) Cash and Accrual  (d) Prudence 

 Codes: 

 (i) (ii) (iii) (iv) 

 A) (b) (d) (c) (a) B) (b) (a) (d) (c) C) (c) (d) (a) (b) D) (c) (d) (b) (a) 

 efvecveefueefKele oes metef®e³eesb JeÀer ceoesb JeÀe efceueeve JeÀerefpeS Deewj mener GÊej yeleeFS: 
 met®eer - I  met®eer - II 
 (i) heÀce& JeÀer JeÀceeF& #ecelee   (a) uesKeebJeÀve JeÀe DeeOeej 
 (ii) ªæ{keeefolee   (b) heer/keer Devegheele 
 (iii) veJeÀo ueeYe   (c) veJeÀoer Òekeen efkekejCe 
 (iv) veJeÀo Deewj Gheepe&ve   (d) efkekesJeÀ 
 JeÀes[dme: 
 (i) (ii) (iii) (iv) 

 A) (b) (d) (c) (a) B) (b) (a) (d) (c) C) (c) (d) (a) (b) D) (c) (d) (b) (a) 

 

51. The transfer by a company of one or more of its business divisions to another newly set up company is called 

 A) Demerger B) Merger C) Equity Carve-out D) Disinvestment 

 SJeÀ JebÀheveer Üeje Deheves SJeÀ ³ee SJeÀ mes DeefOeJeÀ k³eeheeefjJeÀ ÒeYeeieesb JeÀe otmejer veF& mLeeefhele JebÀheveer JeÀes mLeeveeblejCe JeÀes JeÀne peelee nw 
 A) Deefkeue³eve B) efkeue³e C) FefJeÌkeìer JeÀeke&-DeeGì D) efkeefvekesMe 
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52. Public Enterprise is defined as 

 A) An organisation run by joint efforts of Centre and State Governments. 

 B) An organisation which caters to the needs relating to public utilities. 

 C) An organisation in which capital is invested by public. 

 D) An organisation owned and managed by public authorities for definite set of public purposes 

 meeke&peefveJeÀ GÐece JeÀes efJeÀme ªhe cesb heefjYeeef<ele efJeÀ³ee ie³ee nw 
 A) JesÀbê Deewj jep³e mejJeÀejesb JesÀ meb³egJeÌle Òe³eemeesb mes meb®eeefuele SJeÀ mebieþve~ 
 B) SJeÀ mebieþve pees meeke&peefveJeÀ Ghe³eesefieleeDeesb mes mebyebefOele peªjleesb JeÀes hetje JeÀjlee nw~ 
 C) SJeÀ mebieþve efpemecesb hetbpeer pevelee Üeje efvekesMe JeÀer peeleer nw~ 
 D) efveefM®ele meeke&peefveJeÀ GÎsM³eesb JesÀ efueS meeke&peefveJeÀ ÒeeefOeJeÀjCeesb Üeje mkeeefcelke Deewj ÒeyebefOele SJeÀ mebieþve~ 
 

53. Consider the following items: 

 (i) Debentures (ii) Prepaid rent (iii) Interest accrued (iv) Bank overdraft 

 Which of them are current liabilities? 

 A) (i), (ii), (iii) and (iv) B) (iv) C) (ii), (iii) and (iv) D) (i), (ii) and (iii) 

 efvecveefueefKele ceoesb hej efke®eej JeÀjsb: 
 (i) ef[yesb®ej (ii) Òeerhes[ efJeÀje³ee (iii) Deefpe&le y³eepe (iv) yewbJeÀ Deeskej[£eheÌì 
 Fvecesb mes JeÀewve mee ceewpetoe os³eleeSb nwb? 
 Deewj 
 A) (i), (ii), (iii) and (iv) B) (iv) C) (ii), (iii) and (iv) D) (i), (ii) and (iii) 

 

54. Conversion cost is the sum of 

 A) Indirect wages and factory overhead B) Direct wages, direct expenses and factory overhead 

 C) Direct material cost and indirect wages D) Prime cost and selling & distribution overhead 

 ªheeblejCe ueeiele efJeÀmeJeÀe ³eesie nw 
 A) DeÒel³e#e cepeotjer Deewj JeÀejKeeves JeÀe GÀhejer Ke®e& B) Òel³e#e cepeotjer, Òel³e#e k³e³e Deewj JeÀejKeeves JeÀe GÀhejer Ke®e& 
 C) Òel³e#e meeceie´er ueeiele Deewj DeÒel³e#e cepeotjer D) ÒeOeeve ueeiele Deewj efyeJe´Àer Deewj efkelejCe JeÀe GÀhejer Ke®e& 
 

55. Which one refers to cash inflow under payback period method? 

 A) Cash flow before depreciation and taxes B) Cash flow after depreciation and taxes 

 C) Cash flow after depreciation but before taxes D) Cash flow before depreciation and after taxes 

 ueewìeves JeÀer DekeefOe heàefle JesÀ lenle veJeÀoer Òekeen JeÀes JeÀewve mee meboefYe&le JeÀjlee nw? 
 A) cetu³eÛeme Deewj JeÀjesb mes henues veJeÀoer Òekeen B) cetu³eÛeme Deewj JeÀjesb JesÀ yeeo veJeÀoer Òekeen 
 C) cetu³eÛeme JesÀ yeeo uesefJeÀve JeÀjesb mes henues veJeÀoer Òekeen D) cetu³eÛeme mes henues Deewj JeÀjesb JesÀ yeeo veJeÀoer Òekeen 
 

56. Cost of capital from all the sources of funds is called 

 A) Specific cost B) Composite cost C) Implicit cost D) Simple Average cost 

 efveefOe³eesb JesÀ meYeer ñeesleesb mes hetBpeer JeÀer ueeiele JeÀnueeleer nw 
 A) efkeefMeä ueeiele B) meceie´ ueeiele C) Debleefve&efnle ueeiele D) mejue Deewmele ueeiele 
 

57. Which one of the following will not affect the working capital? 

 A) Realization of cash from debtors. B) Sale of plant and machinery in cash. 

 C) Issue of equity shares.  D) Redemption of debentures 

 efvecveefueefKele cesb mes JeÀewve mee JeÀe³e&Meerue hetbpeer JeÀes ÒeYeeefkele venerb JeÀjsiee? 
 A) osveoejesb mes veJeÀoer JeÀer kemetueer~ B) veJeÀoer cesb meb³eb$e Deewj ceMeervejer JeÀer efyeJe´Àer 
 C) FefJeÌkeìer Mes³ejesb JeÀes peejer JeÀjvee D) ef[yesb®ej JeÀe cees®eve 
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58. The commercial banks do not perform one function out of the following : 

 A) Mobilisation of savings B) Giving Loans and Advances 

 C) Issuing Currency Notes D) Financing Priority Sectors 

 keeefCeefp³eJeÀ yewbJeÀ efvecveefueefKele cesb mes SJeÀ JeÀe³e& venerb JeÀjles nwb: 
 A) ye®ele JeÀe mebie´nCe  B) $e+Ce Deewj Deefie´ce osvee  
 C) cegêe veesì peejer JeÀjvee  D) ÒeeLeefceJeÀlee keeues #es$eesb JeÀe efkeÊehees<eCe 
 

59. There are two lists of items, match the items of List – I with items of List – II : 

 List – I List – II 

 I. Reserve Bank of India 1. NPA 

 II. EXIM Bank 2. Facilitating Small Scale Industries 

 III. SIDBI 3. Credit Control 

 IV. Capital Adequacy 4. Export/Import Financing 

 Codes: 

 I II III IV 

 A) 1 2 3 4 B) 4 3 2 1 C) 2 3 4 1 D) 3 4 2 1 

 ceoesb JeÀer oes metef®e³eeB nwb, met®eer - I JeÀer ceoesb JeÀe efceueeve met®eer ö II JeÀer ceoesb JesÀ meeLe JeÀjsb: 
 met®eer - I   met®eer - II 
 I. Yeejleer³e efjpeke& yewbJeÀ   1. SveheerS 
 II.SJeÌpeefce yewbJeÀ   2. ueIeg GÐeesieesb JeÀes megefkeOee Òeoeve JeÀjvee 
 III. efme[yeer   3. $e+Ce efve³eb$eCe 
 IV. hetbpeer he³e&ehlelee   4. efve³e&ele/Dee³eele efkeÊehees<eCe 
 JeÀes[: 
 I II III IV 
 A) 1 2 3 4 B) 4 3 2 1 C) 2 3 4 1 D) 3 4 2 1 

 
60. Which of the following is not a capital asset under capital gains head of income? 

 A) Stock in trade B) Goodwill of business C) Agricultural Land in Delhi D) Jewellery 

 efvecveefueefKele cesb mes JeÀewve mee Dee³e JesÀ hetbpeeriele ueeYe Meer<e& JesÀ lenle hetbpeeriele mebheefÊe venerb nw? 
 A) k³eeheej cesb mìe@JeÀ B) k³eeheej JeÀer meÓekevee C) efouueer cesb JeÉÀef<e Yetefce D) DeeYet<eCe 
 

61. Window dressing is prohibited due to 

 A) Conservation Convention B) Convention of Disclosure 

 C) Convention of Materiality D) Arrear of book accounts 

 efkeb[es [£sefmebie efJeÀmeJesÀ JeÀejCe ÒeefleyebefOele nw 
 A) mebj#eCe mecePeewlee B) ÒeJeÀìerJeÀjCe mecePeewlee C) YeewefleJeÀlee mecePeewlee D) hegmleJeÀ Keeleesb JeÀe yeJeÀe³ee 
 

62. Which one among the following has not started Commercial Banking? 

 efvecveefueefKele cesb mes efJeÀmeves keeefCeefp³eJeÀ yewbefJebÀie Megª venerb JeÀer nw? 

 A) SIDBI B) IDBI C) ICICI D) UTI 

 

63. What is OTP in credit card transactions? 

 A) Odd Transaction Password B) Owner’s Trading Password 

 C) One Time Password  D) One Time Pin code 

 Je´Àsef[ì JeÀe[& uesveosve cesb Deesìerheer JeÌ³ee nw? 
 A) Dee@[ ì£ebpewJeÌMeve heemeke[& B) Deesvej ì£sef[bie heemeke[& C) keve ìeFce heemeke[& D) keve ìeFce efheve JeÀes[ 
 



1938 M_22 (A) 16 

64. Which of the following is ‘true’ regarding the Prudence Principle of Accounting? 

 A) Taking care of the future losses B) Taking care of the future profits 

 C) Taking care of bad debts D) Taking care of inventory and depreciation 

 uesKeebJeÀve JesÀ efkekesJeÀ efmeàeble JesÀ mebyebOe cesb efvecveefueefKele cesb mes JeÀewve mee 'mel³e' nw? 
 A) Yeefke<³e JesÀ neefve JeÀe K³eeue jKevee B) Yeefke<³e JesÀ ueeYe JeÀe K³eeue jKevee 
 C) [tyeble $e+Ceesb JeÀe K³eeue JeÀjvee  D) met®eer Deewj cetu³eÛeme JeÀe K³eeue jKevee 
 

65. Which of the following is a non-operating expense? 

 A) Salary of Managing Director B) Depreciation 

 C) Advertisement expenditure D) Interest on loan 

 efvecve cesb mes JeÀewve mee iewj-heefj®eeueve k³e³e nw? 
 A) ÒeyebOe efveosMeJeÀ JeÀe kesleve B) cetu³eÛeme C) efke%eeheve k³e³e D) $e+Ce hej y³eepe 
 

66. PIN in banking transaction is known as 

 A) Postal Index Number  B) Permanent Identification Number 

 C) Personal Identification Number D) Public Interlocking Numeric 

 yewbefJebÀie ì£ebpewJeÌMeve cesb efheve JeÀes JeÀne peelee nw 
 A) heesmìue Fb[sJeÌme vebyej  B) hejceevesbì DeeF[sbefìefheÀJesÀMeve vebyej  
 C) heme&veue DeeF[sbefìefheÀJesÀMeve vebyej D) heefyueJeÀ Fbìjuee@efJebÀie v³etcesefjJeÀ 
 

67. Which of the following deductions will not come under Sec. 80 of the Income Tax Act? 

 A) Deduction in the case of a person with disability 

 B) Deduction for interest paid on loan taken for pursuing higher education 

 C) Deduction for interest on loan taken for the construction / purchase of house property 

 D) Deduction for repayment of any instalment of principal amount borrowed for the purchase / construction of 

house property 

 efvecveefueefKele cesb mes JeÀewve meer JeÀìewleer Dee³eJeÀj DeefOeefve³ece JeÀer Oeeje 80 JesÀ Debleie&le venerb DeeSieer? 
 A) efkeJeÀueebie k³eefJeÌle JesÀ ceeceues cesb JeÀìewleer 
 B) G®®e efMe#ee JesÀ efueS efueS ieS $e+Ce hej Yegieleeve efJeÀS ieS y³eepe JesÀ efueS JeÀìewleer 
 C) Iej JeÀer mebheefÊe JesÀ efvece&eCe/Kejero JesÀ efueS efueS ieS $e+Ce hej y³eepe JesÀ efueS JeÀìewleer 
 D) Iej JeÀer mebheefÊe JeÀer Kejero / efvece&eCe JesÀ efueS GOeej ueer ieF& cetue jeefMe JeÀer efJeÀmeer Yeer efJeÀmle JesÀ hegveYe&gieleeve JesÀ efueS JeÀìewleer 
 

68. Insurance expenses paid to bring an equipment from the place of purchase to the place of installation is a type 

of ____________. 

 A) Revenue expenditure  B) Capital expenditure 

 C) Deferred revenue expenditure D) Operating expense 

 SJeÀ GheJeÀjCe JeÀes Kejero JesÀ mLeeve mes mLeehevee JesÀ mLeeve leJeÀ ueeves JesÀ efueS Yegieleeve efJeÀ³ee ie³ee yeercee k³e³e SJeÀ ÒeJeÀej JeÀe ________ nw 
 A) jepemke k³e³e B) hetbpeeriele k³e³e C) DeemLeefiele jepemke k³e³e D) heefj®eeueve k³e³e 
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69. ABC Ltd. has declared 40% dividend. Which one of the following does it mean? 

 A) The company has declared 40% of net profit as dividend 

 B) The company has declared 40% of profits after tax as dividend 

 C) The company will provide dividend 40% on issued capital 

 D) The company will provide dividend 40% on paid-up capital 

 Syeermeer efueefceìs[ ves 40… ueeYeebMe Ieesef<ele efJeÀ³ee nw~ FmeJeÀe DeLe& efvecveefueefKele cesb mes JeÌ³ee nw? 
 A) JebÀheveer ves Megà ueeYe JeÀe 40… ueeYeebMe JesÀ ªhe cesb Ieesef<ele efJeÀ³ee nw 
 B) JebÀheveer ves JeÀj JesÀ yeeo ueeYe JeÀe 40… ueeYeebMe JesÀ ªhe cesb Ieesef<ele efJeÀ³ee nw 
 C) JebÀheveer peejer hetbpeer hej 40… ueeYeebMe Òeoeve JeÀjsieer 
 D) JebÀheveer ®egJeÀlee hetbpeer hej 40… ueeYeebMe Òeoeve JeÀjsieer 
 

70. The presence of fixed costs in the total cost structure of a firm results into 

 A) Financial leverage B) Operating leverage C) Super leverage D) None of the above 

 SJeÀ heÀce& JeÀer JegÀue ueeiele mebj®evee cesb efveefM®ele ueeiele JeÀer GheefmLeefle JeÀe heefjCeece neslee nw 
 A) efkeÊeer³e ueerkejspe B) Dee@hejsefìbie ueerkejspe C) meghej ueerkejspe D) Ghe³e&gJeÌle cesb mes JeÀesF& venerb 
 

71. “The cost of capital declines when the degree of financial leverage increases.” Who advocated it? 

 A) Net operating income approach B) Net income approach 

 C) Modigliani-Miller approach D) Traditional approach 

 efkeÊeer³e ueerkejspe JeÀer ef[ie´er yeæ{ves hej hetbpeer JeÀer ueeiele cesb efiejekeì Deeleer nw~ FmeJeÀer keJeÀeuele efJeÀmeves JeÀer? 
 A) Megà heefj®eeueve Dee³e oÉefäJeÀesCe B) Megà Dee³e oÉefäJeÀesCe  
 C) ceesefoefiueDeeveer-efceuej oÉefäJeÀesCe D) heejbheefjJeÀ oÉefäJeÀesCe 
 

72. If the spot price is higher than the strike price in a call option, it is referred to as 

 A) At-the-money B) In-the-money C) Out-of-the-money D) Premium 

 ³eefo efJeÀmeer JeÀe@ue Dee@hMeve cesb mhee@ì cetu³e mì£eFJeÀ cetu³e mes DeefOeJeÀ nw, lees Fmes JeÀne peelee nw 
 A) Sì-o-ceveer B) Fve-o-ceveer C) DeeGì-Dee@heÀ-o-ceveer D) Òeerefce³ece 
 

73. Venture capital financing at starting stage is generally not done through 

 A) Debt instruments B) Deep discount bonds C) Equity shares D) Conditional loans 

 ÒeejbefYeJeÀ DekemLee cesb kesb®ej JewÀefheìue heÀeFvesbefmebie Deece leewj hej efJeÀmeJesÀ ceeO³ece mes venerb JeÀer peeleer nw 
 A) $e+Ce efueKele B) [erhe ef[mJeÀeGbì yeeb[ C) FefJeÌkeìer Mes³ej D) meMele& $e+Ce 
 

74. Which one of the following statements is true? 

 A) Capital expenditure does not affect the profitability of a concern but revenue expenditure does 

 B) Capital expenditure affects the profitability of a concern directly but revenue expenditure does not 

 C) Capital expenditure affects the profitability of a concern indirectly but revenue expenditure affects directly 

 D) Both capital expenditure and revenue expenditure affect the profitability of a concern directly 

 efvecveefueefKele cesb mes JeÀewve mee JeÀLeve mel³e nw? 
 A) hetbpeeriele k³e³e efJeÀmeer heÀce& JeÀer ueeYeÒeolee JeÀes ÒeYeeefkele venerb JeÀjlee nw uesefJeÀve jepemke k³e³e JeÀjlee nw~ 
 B) hetbpeeriele k³e³e SJeÀ heÀce& JeÀer ueeYeÒeolee JeÀes Òel³e#e ªhe mes ÒeYeeefkele JeÀjlee nw uesefJeÀve jepemke k³e³e venerb JeÀjlee nw~ 
 C) hetbpeeriele k³e³e DeÒel³e#e ªhe mes SJeÀ heÀce& JeÀer ueeYeÒeolee JeÀes ÒeYeeefkele JeÀjlee nw uesefJeÀve jepemke k³e³e Òel³e#e ªhe mes ÒeYeeefkele JeÀjlee nw~ 
 D) hetbpeeriele k³e³e Deewj jepemke k³e³e oesveesb Òel³e#e ªhe mes SJeÀ heÀce& JeÀer ueeYeÒeolee JeÀes ÒeYeeefkele JeÀjles nwb~ 
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75. In India, which of the following is prepared on the guidelines of AS-3 (Accounting Standard – 3)? 

 A) Balance Sheet of a Company B) Funds Flow Statement 

 C) Cash Flow Statement  D) Consolidated Financial Statement 

 Yeejle cesb efvecveefueefKele cesb mes JeÀewve mee SSme-3 (uesKee ceeveJeÀ-3) JesÀ efoMeeefveo&sMeesb hej lew³eej efJeÀ³ee peelee nw? 
 A) SJeÀ JebÀheveer JeÀer yewuesbme Meerì  B) efveefOe Òekeen efkekejCe  
 C) veJeÀo Òekeen efkekejCe  D) mecesefJeÀle efkeÊeer³e efkekejCe 
 

76. The main effect of inflation on the financial statement is 

 A) Profits are understated  B) Overstatement of Assets 

 C) Adequacy of funds for replacement of assets D) Erosion of capital 

 efkeÊeer³e efkekejCe hej cegêemheÀerefle JeÀe cegK³e ÒeYeeke nw 
 A) cegveehesÀ JeÀes JeÀce JeÀjJesÀ DeeBJeÀe peelee nw B) mebheefÊe³eesb JeÀes p³eeoe JeÀjJesÀ DeeBJeÀe peelee nw 
 C) heefjmebheefÊe JesÀ ÒeeflemLeeheve JesÀ efueS Oeve JeÀer he³e&ehlelee D) hetbpeer JeÀe #ejCe 
 

77. Balance of Payment includes components 

 A) Current Account, Capital Account, Unilateral Payments Accounts, Official Settlement Account 

 B) Revenue Account, P & L Account, Capital Account, Official Account 

 C) Trade Account, Activity Account, Revenue Account, Currency Account 

 D) Forex Account, Trade Account, Funds Account 

 Yegieleeve meblegueve cesb JeÀewve mes IeìJeÀ Meeefceue nwb 
 A) ®eeuet Keelee, hetbpeer Keelee, SJeÀlejheÀe Yegieleeve Keeles, DeeefOeJeÀeefjJeÀ efveheìeve Keelee 
 B) jepemke Keelee, heer Sb[ Sue Keelee, hetbpeer Keelee, DeeefOeJeÀeefjJeÀ Keelee 
 C) k³eeheej Keelee, ieefleefkeefOe Keelee, jepemke Keelee, cegêe Keelee 
 D) efkeosMeer cegêe Keelee, k³eeheej Keelee, efveefOe Keelee 
 

78. Which one is not the form of FDI? 

 A) Purchase of existing assets in foreign currency B) New Investment in property, plant, equipment 

 C) Making investment in the mutual funds D) Transfer of many types of assets 

 Fvecesb mes JeÌ³ee SheÀ[erDeeF& JeÀe ªhe venerb nw? 
 A) efkeosMeer cegêe cesb ceewpetoe heefjmebheefÊe JeÀer Kejero B) mebheefÊe, meb³eb$e, GheJeÀjCe cesb ve³ee efvekesMe 
 C) c³et®egDeue hebÀ[ cesb efvekesMe JeÀjvee D)JeÀF& ÒeJeÀej JeÀer heefjmebheefÊe³eesb JeÀe nmleeblejCe 
 

79. Which one of the following concepts is used as fund in the preparation of Funds Flow Statement? 

 A) Current Assets  B) Working Capital 

 C) Cash  D) All Financial Resources 

 efveefOe Òekeen efkekejCe lew³eej JeÀjves cesb efveefOe JesÀ ªhe cesb efvecveefueefKele cesb mes efJeÀme DekeOeejCee JeÀe Ghe³eesie efJeÀ³ee peelee nw? 
 A) kele&ceeve heefjmebheefÊe B) JeÀe³e&Meerue hetbpeer C) veJeÀo D) meYeer efkeÊeer³e mebmeeOeve 
 

80. Which formula is used measure the degree of Operating leverage? 

 A) EBIT/sales B) C/EBIT C) EBIT/EBT D) EBIT/C 

 heefj®eeueve ueerkejspe JeÀer ef[ie´er JeÀes ceeheves JesÀ efueS efJeÀme met$e JeÀe Ghe³eesie efJeÀ³ee peelee nw? 
 A) F&yeerDeeF&ìer / efyeJe´Àer B) meer / F&yeerDeeF&ìer C) F&yeerDeeF&ìer / F&yeerìer D) F&yeerDeeF&ìer / meer 
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PART C : Quantative Aptitude (Arithmetic) 

भागभागभागभाग    C : C : C : C : मा�ा�मकमा�ा�मकमा�ा�मकमा�ा�मक    अिभ�मताअिभ�मताअिभ�मताअिभ�मता    ((((अकंगिणतअकंगिणतअकंगिणतअकंगिणत))))    
 

81. If the difference between 3/8
th 

and 2/7
th 

of a number is 50, then the number would be 

 ³eefo efJeÀmeer mebK³ee JesÀ 3/8
th Deewj 2/7

th Yeeie JesÀ yeer®e JeÀe Deblej 50 nw, lees ken mebK³ee nesieer 
 A) 500 B) 520 C) 540 D) 560 

  

82. If 25% of 13/12 of a certain number is 520, then what is 60% of that number? 

 ³eefo SJeÀ efveefM®ele mebK³ee JesÀ 13/12 JeÀe 25%, 520  nw, lees Gme mebK³ee JeÀe 60% JeÌ³ee nw? 

 A) 1252 B) 1152 C) 1552 D) 1225 

 

83. If x = 3 + 2√2, then [�� + 
�

��] = ? 

 A) 1024 B) 1154 C) 1734 D) None of these 

 ³eefo x = 3 + 2√2, lees [�� + 
�

��] = ? 

 A) 1024 B) 1154 C) 1734 D) Fvecesb mes JeÀesF& venerb 
 

84. 8
3
 × 8

2
 × 8 

–5
 = ?  

 A) 0 B) 1 C) 8 D) None of these 

 

85. (37.1 % 0f 480) – (?% of 280) = (12% of 322) 

 A) 37.6 B) 39.6 C) 49.8 D) 52.4 

 

86. A reduction of 20% in the price of rice enables a person to buy 3.5 kg more rice for ₹ 385. The original price of 

rice is 

 A) ₹20 per kg B) ₹22.5 per kg C) ₹25 per kg D) ₹27.5 per kg 

 ®eekeue JeÀer JeÀercele cesb 20… JeÀer JeÀceer nesves mes SJeÀ k³eefJeÌle  385 cesb 3.5 efJeÀie´e DeefOeJeÀ ®eekeue Kejero meJeÀlee nw~ ®eekeue JeÀer keemleefkeJeÀ JeÀercele 
nw   

 A) ₹20 per kg B) ₹22.5 per kg C) ₹25 per kg D) ₹27.5 per kg 

 

87. Three candidates in an election received 1136, 7636 and 11628 votes respectively. What percentage of the total 

votes did the winning candidate? 

 A) 11.6% B) 60% C) 7.4% D) None of these 

 SJeÀ ®egveeke cesb leerve Gcceerokeejesb JeÀes Je´ÀceMe: 1136, 7636 Deewj 11628 cele Òeehle ngS~ efkepe³eer Gcceerokeej JeÀes JegÀue celeesb JeÀe efJeÀlevee 
ÒeefleMele cele efceuee? 

 A) 11.6… B) 60… C) 7.4… D) Fvecesb mes JeÀesF& venerb 
 

88. A merchant has 1000 kg of sugar, part of which he sells at 8% profit. He gains 14% on the whole. The rest 

quantity sold at 18% profit is 

 SJeÀ k³eeheejer JesÀ heeme 1000 kg ®eerveer nw, efpemeJeÀe JegÀí Yeeie ken 8% ueeYe hej yes®elee nw~ Gmes JegÀue efceueeJeÀj 14% JeÀe ueeYe neslee nw~ Mes<e 
cee$ee pees 18% ueeYe hej yes®eer ieF& nw 

 A) 560 kg B) 600 kg C) 400 kg D) 640 kg 
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89. A man sold two pipes at ₹ 12 each. On one he gained 20% and on the other lost 20%. On whole, he 

 A) Neither gained nor lost  B) Gained ₹ 1 

 C) Lost ₹ 1  D) Gained ₹ 2 

 SJeÀ k³eefJeÌle ves oes heeFhe  12 Òel³esJeÀ cesb yes®es~ SJeÀ hej Gmes 20… JeÀe ueeYe ngDee Deewj otmejs hej 20… JeÀe neefve ngF&~ JegÀue efceueeJeÀj, 
 A) Gmes JeÀesF& ueeYe ³ee neefve venerb ngF& B) ₹ 1 JeÀe ueeYe ngDee  
 C) ₹ 1 JeÀer neefve ngF&  D) ₹ 2 JeÀe ueeYe ngDee 
 

90. Raman bought a geyser at 9/10
th 

of its marked price and sold it at 8% more than its marked price. His gain 

percent is 

 jceve ves SJeÀ ieerpej JeÀes GmeJesÀ DebefJeÀle cetu³e JesÀ 9/10kesb efnmmes hej Kejeroe Deewj Gmes GmeJesÀ DebefJeÀle cetu³e mes 8… DeefOeJeÀ hej yes®e efo³ee~ 
GmeJeÀe ueeYe ÒeefleMele nw 

 A) 8% B) 10% C) 18% D) 20% 

 

91. If A : B = 1 ∶ 3, B : C = 5:7, C:D = 9:7, then A : B : C : D =? 

 A) 15 : 45 : 63 : 49 B) 15 : 49 : 45 : 63 C) 45 : 15 : 63 : 49 D) 49 : 15 : 45 : 63 

 

92. If 
�
���

�����
=5 then a : b =? 

 A) 2:1 B) 3:2 C) 5:2 D) 5:3 

 

93. The incomes of A and B are in the ratio 3 : 2 and their expenditures are in the ratio 5 : 3 if each saves ₹1000 

then A’s income is 

 A Deewj B JeÀer Dee³e 3 : 2 JesÀ Devegheele cesb nw Deewj GveJeÀe k³e³e 5 : 3 JesÀ Devegheele cesb nw ³eefo Òel³esJeÀ ₹1000  ye®eelee nw lees A JeÀer Dee³e nw 
 A) ₹3000 B) ₹ 4000 C) ₹ 6000 D) ₹ 9000 

 

94. Two vessels A and B contain milk and water mixed in the ratio 5:3 and 2:3. When these mixtures are mixed to 

form a new mixture containing half milk and half water they must be taken in the ratio 

 oes yele&ve A Deewj  B cesb otOe Deewj heeveer JeÀe Devegheele 5:3 Deewj 2:3 nw~ peye Fve efceÞeCeesb JeÀes efceueeJeÀj SJeÀ ve³ee efceÞeCe yevee³ee peelee nw 
efpemecesb DeeOee otOe Deewj DeeOee heeveer neslee nw, lees Gvnsb efJeÀme Devegheele cesb uesvee ®eeefnS 

 A) 2 : 5 B) 3:5 C) 4 : 5 D) 7 : 3 

 

95. A, B, and C are partners. A receives 9/10 of the profit and, B & C share the remaining profit equally. A’s 

income is increased by ₹ 270 when the profit rises from 12% to 15%. Find the capital invested by B & C 

respectively 

 A, B Deewj C meePesoej nwb~ A JeÀes ueeYe JeÀe 9/10 Yeeie Òeehle neslee nw Deewj B Deewj C Mes<e ueeYe JeÀes meceeve ªhe mes meePee JeÀjles nwb~ ueeYe 
12… mes 15… leJeÀ yeæ{ves hej A JeÀer Dee³e cesb  270 JeÀer keÉefà nesleer nw~ Je´ÀceMe:  B  Deewj C Üeje efvekesMe JeÀer ieF& hetbpeer JeÀe helee ueieeSb  

 A) 500 B) 100 C) 5000 D) 1000 

 

96. A, B and C start a business each investing ₹ 20000. After 5 months A withdrew ₹ 5000, B withdrew ₹4000 and 

C invests ₹ 6000 more. At the end of the year, a total profit of 69,900 was recorded. Find the share of C? 

 A, B Deewj C Òel³esJeÀ  20000 JeÀe efvekesMe JeÀjJesÀ SJeÀ k³ekemee³e Megª JeÀjles nwb~ 5 cenerves JesÀ yeeo A ves  5000 efveJeÀeues, B ves 4000 efveJeÀeues 
Deewj C ves  6000 Deewj efvekesMe efJeÀS~ meeue JesÀ Deble cesb JegÀue 69,900 JeÀe ueeYe ope& efJeÀ³ee ie³ee~ C JeÀe efnmmee helee JeÀerefpeS? 

 A) 20500 B) 28200 C) 21200 D) 23600 
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97. A garrison of 500 men had provisions for 24 days. However a reinforcement of 300 men arrived. The food will 

now last for 

 A) 18 days B) 17 ½ days C) 16 days D) 15 days 

 500 heg©<eesb JeÀer SJeÀ ®eewJeÀer cesb 24 efoveesb JeÀe jeMeve Lee~ neueebefJeÀ 300 ueesie Deewj Dee ieS~ Deye Yeespeve JeÀye leJeÀ ®euesiee? 
 A) 18 efoveesb B) 17 ½ efoveesb C) 16 efoveesb D) 15 efoveesb 
 

98. 20 men complete 1/3 of a piece of work in 20 days. How many more men should be employed to finish the rest 

of the work in 25 more days? 

 20 heg©<e SJeÀ JeÀe³e& JeÀe 1/3  Yeeie 20 efoveesb cesb hetje JeÀjles nwb~ Mes<e JeÀe³e& JeÀes DeefleefjJeÌle 25 efoveesb cesb hetje JeÀjves JesÀ efueS Deewj efJeÀleves heg©<eesb JeÀes 
efve³eesefpele efJeÀ³ee peevee ®eeefnS? 

 A) 10 B) 12 C) 15 D) 20 

 

99. A tank can be filled by a tap in 20 minutes and by another tap in 60 minutes. Both the taps are kept open for 10 

minutes and then the first tap is shut off. After this, the tank will be completely filled in 

 A) 10 minutes B) 12 minutes C) 15 minutes D) 20 minutes 

 SJeÀ ìbJeÀer JeÀes SJeÀ veue 20 efceveì cesb Deewj otmeje veue 60 efceveì cesb Yej meJeÀlee nw~ oesveesb veue JeÀes 10 efceveì JesÀ efueS Keguee jKee peelee nw Deewj 
efheÀj henuee veue yebo JeÀj efo³ee peelee nw~ FmeJesÀ yeeo ìbJeÀer hetjer lejn mes Yej peeSieer 

 A) 10 efceveìesb cesb B) 12 efceveìesb cesb C) 15 efceveìesb cesb D) 20 efceveìesb cesb 
 

100. A cistern has a leak which would empty it in 8 hours. A tap is turned on which admits 6 litres a minute into the 

cistern and it is now emptied in 12 hours. How many litres does the cistern hold? 

 SJeÀ ìbJeÀer cesb SJeÀ efjmeeke nw pees Fmes 8 Iebìs cesb Keeueer JeÀj oslee nw~ SJeÀ veue JeÀes ®eeuet efJeÀ³ee peelee nw pees ìbJeÀer JeÀes SJeÀ efceveì cesb 6 ueerìj Yej 
oslee nw Deewj Deye Fmes 12 Iebìs cesb Keeueer JeÀj efo³ee peelee nw~ ìbJeÀer efJeÀleves ueerìj JeÀer nw? 

 A) 7580 L B) 7960 L C) 8290 L D) 8640 L 

 

101. Find the value of sin
2
 (120° – A) + sin

2 
A + sin

2
 (120° + A) 

 sin
2
 (120° – A) + sin

2 
A + sin

2
 (120° + A) JeÀe ceeve %eele JeÀerefpeS~ 

 A) 2/3 B) 3/2 C) 5/2 D) √3/2 

 

102. A man on the top of a rock rising on seashore observes a boat coming towards it. If it takes 10 minutes for the 

angle of depression to change from 0 to 60 degrees, how soon will the boat reach shore? 

 A) 2 minutes B) 5 minutes C) 7 minutes D) 10 minutes 

 mecegê JesÀ efJeÀveejs SJeÀ ®eÆeve JeÀer ®eesìer hej Ke›e SJeÀ Deeoceer SJeÀ veeke JeÀes Deheveer Deesj Deeles ngS osKelee nw~ ³eefo Dekeveceve JeÀesCe JeÀes 0 mes 60 
ef[ie´er leJeÀ yeoueves cesb 10 efceveì JeÀe mece³e ueielee nw, lees veeke efJeÀleveer peuoer leì hej hengb®esieer? 

 A) 2 efceveì B) 5 efceveì C) 7 efceveì D) 10 efceveì 
 

103. Two parallel lines AB and CD are intersected by a transversal EF at M and N respectively. The lines MP and 

NP are the bisectors of interior angles ∠BMN ∠DNM on the same side of the transversal. Then ∠MPN is 
equal to 

 oes meceeveeblej jsKeeS AB Deewj CD SJeÀ efle³e&JeÀ jsKee EF Üeje Je´ÀceMe: M Deewj N hej Òeefle®íso nesleer nwb~ jsKeeSB MP Deewj  NP efle³e&JeÀ 
jsKee JesÀ SJeÀ ner Deesj JesÀ Deble: JeÀesCeesb  ∠BMN ∠DNM JeÀer meceefÜYeepeJeÀ nwb~ lees ∠MPN yejeyej JeÌ³ee nesiee? 

 A) 60˚ B) 90˚ C) 45˚ D) 120˚ 
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104. In ∆PQR AP = 2√2 cm. AQ = 3√2 cm and PR = 10 cm. AB ∥ QR. Find the length of BR 

 ∆PQR cesb, AP = 2√2 cm. AQ = 3√2 Deewj PR = 10 cm. AB ∥ QR.  BR JeÀer uebyeeF& %eele JeÀerefpeS 

 A) 6√2 cm B) 5√2 cm C) 5 cm D) 6 cm 

 

105. In a ∆ABC, AB= 10 cm, BC= 12 cm and AC= 14 cm. find the length  of median AD. If G is the centroid, find 
length of GA: 

 ∆ABC cesb AB= 10 cm, BC= 12 cm AC= 14 cm. ceeefO³eJeÀe AD JeÀer uebyeeF& %eele JeÀerefpeS~ ³eefo G JesÀvêJeÀ nw, lees  GA JeÀer uebyeeF& 
%eele JeÀerefpeS: 

 A) 
�

�
√7, 

�

@
√7  B) 5√7, 4√7 C) 

�A

√�
, 

C

�
√7 D) 4√7, 

C

�
√7 

 

106. If sum of two polynomials is 5x
2
 + 3x – 1. If one of them is 3x

3
 – 2x + 7. Find the other 

 ³eefo oes yengheoesb JeÀe ³eesie 5x
2
 + 3x – 1 nw~ ³eefo Gvecesb mes SJeÀ 3x

3
 – 2x + 7 nw, lees otmeje %eele JeÀerefpeS 

 A) 3x
3
 + 5x

2
 + 5x – 8 B) – 3x

3
 + 5x

2
 + 5x – 8 C) 2x

2
 + x + 6  D) None of these 

 

107. When (x
3
 – 2x

2
 + px – q) is divided by (x

2
 – 2x – 3), the remainder is (x – 6). The values of p and q are : 

 (x
3
 – 2x

2
 + px – q)  JeÀes (x2

 – 2x – 3) mes efkeYeeefpele efJeÀ³ee peelee nw, lees Mes<eheÀue  (x – 6).  neslee nw~ p Deewj q JesÀ ceeve nwb: 
 A) p = – 2, q = – 6 B) p = 2, q = – 6 C) p = – 2, q = 6 D) p = 2, q = 6 

 

108. Shubham travels 760 km to his home partly by train and partly by car. He takes 8 hours if he travels 160 km by 

train and the rest by car. He takes 12 minutes more if he travels 240 km by train and the rest by car. Find the 

speed of the train and the car respectively (in km/hr) 

 MegYece Deheves Iej leJeÀ Lees›er otj ì£sve mes Deewj Lees›er otj JeÀej mes 760 km JeÀer ³ee$ee JeÀjlee nw~ ³eefo ken 160 km ì£sve mes Deewj yeeJeÀer JeÀer otjer 
JeÀej mes le³e JeÀjlee nw lees Gmes 8 Iebìs ueieles nwb~ ³eefo ken 240 km ì£sve mes Deewj Mes<e otjer JeÀej mes le³e JeÀjlee nw lees Gmes 12 efceveì DeefOeJeÀ ueieles 
nwb~ ì£sve Deewj JeÀej JeÀer Je´ÀceMe: ieefle %eele JeÀerefpeS (km/hr cesb) 

 A) 40, 80 B) 60, 120 C) 80,100 D) 100, 120 

 

109. The set {x: (x – 3 )(x – 5) >0)}is equal to 

 meceg®®e³e {x: (x – 3 )(x – 5) >0)}yejeyej nw 
 A) {x: 3 < x < 5}  B) {x: x<3}∪ {x : x < 5} 

 C) {x : x < 3}∪ {x : x > 5} D) {x : x > 3}∪ {x : x > 5} 

 

110. In a group of 80 employees, the number of employees who are engineers is twice that of the employees who 

are MBAs. The number of employees who are not engineers is 32 and that of those who are not MBAs is 56. 

The number of employees who are both engineers and MBAs is twice that of the employees who are only 

MBAs. How many employees are neither engineer (B Tech) nor MBAs? 

 80 JeÀce&®eeefj³eesb JesÀ SJeÀ mecetn cesb, Fbpeerefve³ej JeÀce&®eeefj³eesb JeÀer mebK³ee SceyeerS JeÀce&®eeefj³eesb JeÀer mebK³ee mes oesiegveer nw~ pees JeÀce&®eejer Fbpeerefve³ej venerb 
nwb GveJeÀer mebK³ee 32 nw Deewj pees SceyeerS venerb nwb GveJeÀer mebK³ee 56 nw~ pees JeÀce&®eejer Fbpeerefve³ej Deewj SceyeerS oesveesb nwb GveJeÀer mebK³ee, JesÀkeue 
SceyeerS JeÀce&®eeefj³eesb JeÀer mebK³ee mes oesiegveer nw~ efJeÀleves JeÀce&®eejer ve lees Fbpeerefve³ej (yeer ìsJeÀ) nwb Deewj ve ner SceyeerS nwb? 

 A) 24 B) 30 C) 36 D) 38 

 

111. 1/1, 4/8, 9/27, 16/64, 25/125, ? 

 A) 36/49 B) 49/64 C) 36/216 D) None of these 
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112. What is the sum of infinite terms of the given series? 4 + 4 × 4
 ½

 + 4 × 4
 ½

 × 4
 1/4

 +_____ 

 oer ieF& ÞeÉbKeuee JesÀ Deveble heoesb JeÀe ³eesie JeÌ³ee nw? 4 + 4 × 4
 ½

 + 4 × 4
 ½

 × 4
 1/4

 +_____ 

 A) 12 B) 16 C) 32 D) 64 

 

113. Calculate the sum of the series 1 + ¼ + 1/16 +____ 

 ÞeÉbKeuee 1 + ¼ + 1/16 +____ JesÀ ³eesie JeÀer ieCevee JeÀjsb 
 A) ¾ B) 4/3 C) 2 D) None of these 

 

114. The Suvarna Rekha river flows from west to east and on the way turns left and goes in a quarter circles around 

a Shiv Temple, and then turns left in right angles. In which direction is the river finally flowing? 

 A) North B) South C) East D) West 

 megkeCe& jsKee veoer heefM®ece mes hetke& JeÀer Deesj yenleer nw Deewj jemles cesb yeeSb ceg›leer nw Deewj SJeÀ efMeke cebefoj JesÀ ®eejesb Deesj SJeÀ ®eewLeeF& Iesjs cesb peeleer 
nw, Deewj efheÀj oeSb JeÀesCe cesb yeeSb ceg›leer nw~ veoer Deble cesb efJeÀme efoMee cesb yen jner nw? 

 A) GÊej B) oef#eCe C) hetke& D) heefM®ece 
 

115. A boy starts walking straight towards the North and walks 10 feet, then he turns to his left and walks 5 feet, 

then he turns to his left and walks another 5 feet, then again he turns to his left and walks 10 feet an then he 

turns to his right and walks 2 feet how far is he now from his starting point? 

 A) √15 feet B) √21 feet C) √29 feet D) √34 feet 

 SJeÀ ue›JeÀe meerOes GÊej JeÀer Deesj ®euevee Megª JeÀjlee nw Deewj 10 heÀerì ®euelee nw, efheÀj ken Deheveer yeeF&b Deesj ceg›lee nw Deewj 5 heÀerì ®euelee nw, 
efheÀj ken Deheveer yeeF&b Deesj ceg›lee nw Deewj efheÀj 5 heÀerì ®euelee nw, efheÀj ken Deheveer yeeF&b Deesj ceg›lee nw Deewj 10 heÀerì ®euelee nw Deewj efheÀj ken 
Deheveer oeefnveer Deesj ceg›lee nw Deewj 2 heÀerì ®euelee nw, Deye ken Deheves Meg©Deeleer efyebog mes efJeÀleveer otj nw? 

 A) √15 heÀerì B) √21 heÀerì C) √29 heÀerì D) √34 heÀerì 
 

116. A direction pole at a crossing due to an accident turns in such a manner that now east pointer is showing 

southwest. A traveler went to wrong direction thinking that he was travelling south. In what direction was he 

actually travelling? 

 A) Southwest B) Northwest C) Northeast D) Southeast 

 ogIe&ìvee JesÀ JeÀejCe SJeÀ ®eewjens hej JeÀe efoMee heesue Fme lejn mes ceg› peelee nw efJeÀ Deye hetke& JeÀe hee@Fbìj oef#eCe-heefM®ece JeÀer Deesj efoKee jne nw~ 
SJeÀ ³ee$eer ³en mees®eJeÀj ieuele efoMee cesb ®euee ie³ee efJeÀ ken oef#eCe JeÀer Deesj pee jne nw~ ken keemleke cesb efJeÀme efoMee cesb pee jne Lee? 

 A) oef#eCe heefM®ece B) GÊej heefM®ece C) GÊej hetke& D) oef#eCe hetke& 
 

117. Which of the following changes would make the given expression correct? 

 4 + 4 × 4 – 4 ÷ 4 = 4 

 A) ‘+’ and ‘×’ B) ‘–‘ and ‘÷’ C) ‘+’ and ‘÷’ D) Both B and C 

 efvecveefueefKele cesb mes JeÀewve mee heefjkele&ve efoS ieS k³ebpeJeÀ JeÀes mener yevee osiee? 
 4 + 4 × 4 – 4 ÷ 4 = 4 

 A) ‘+’ Deewj ‘×’ B) ‘–‘Deewj ‘÷’ C) ‘+’ Deewj ‘÷’ D) B Deewj C oesveesb 
 

118. If ‘+’ implies ‘ – ‘, ‘ – ‘ implies ‘÷’, ‘×’ implies ‘÷’ and ‘÷’ implies ‘+’, then insert the proper signs between the 

figures in the given equation:- 12_8_4_2_1 = 15 

 ³eefo ‘+’ JeÀe DeLe& nw '-', '-' JeÀe DeLe& nw ‘+’, ‘×’ JeÀe DeLe& nw ‘÷’ Deewj ‘÷’ JeÀe DeLe& nw ‘+’, lees efoS ieS meceerJeÀjCe cesb DeebJeÀ›esb JesÀ 
yeer®e Gef®ele ef®eÚ [euesb:- 12_8_4_2_1 = 15 

 A) ÷, ×, –, +  B) ÷, –, +, ×  C) +, –, ×, ÷ D) –, + ÷, × 
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119. The time in a clock is 20 minutes past 2. Find the angle between the hands of the clock. 

 A) 45 degrees B) 50 degrees C) 60 degrees D) 120 degrees 

 Ie›er cesb mece³e 2 yepeJeÀj 20 efceveì nw~ Ie›er JeÀer megF³eesb JesÀ yeer®e JeÀe JeÀesCe %eele JeÀerefpeS~ 
 A) 45 ef[ie´er B) 50 ef[ie´er C) 60 ef[ie´er D) 120 ef[ie´er 
 

120. In the following series, what numbers should replace the question marks? 

 -1, 0, 1, 0, 2, 4, 1, 6, 9, 2, 12, 16, ?, ?, ? 

 efvecveefueefKele ÞeÉbKeuee cesb, ÒeMvekee®eJeÀ ef®evnesb JesÀ mLeeve hej JeÀewve-meer mebK³eeSB Deeveer ®eeefnS? 
 -1, 0, 1, 0, 2, 4, 1, 6, 9, 2, 12, 16, ?, ?, ? 

 A) 11, 18, 27 B) -1, 0, 3  C) 3, 20, 25 D) Can not be ascertained 
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PART D : General Knowledge 

भागभागभागभाग    DDDD    : : : : सामा	यसामा	यसामा	यसामा	य    �ान�ान�ान�ान 

 

121. Which of these is false about hummingbirds? 

 A) They hum from their mouth B) They can fly backwards 

 C) They have no sense of smell D) They are not actual birds 

 Fvecesb mes JeÌ³ee nefcebie ye[& JesÀ yeejs cesb ieuele nw? 
 A) kes Deheves cegbn mes iegveiegveeles nwb  B) kes heerís JeÀer Deesj G› meJeÀles nwb 
 C) Gvecesb iebOe JeÀe yeesOe venerb neslee nw D) kes keemleke cesb he#eer venerb nwb 
 

122. APGAR score is the test for 

 A) Newborn babies B) Teenagers C) Adults D) Senior citizens 

 SheerpeerSDeej mJeÀesj efJeÀmeJesÀ efueS hejer#ee nw 
 A) vekepeele efMeMeg B) efJeÀMeesjesb C) ke³emJeÀesb D) keefjÿ veeieefjJeÀesb 
 

123. Which city is the northernmost capital in the world? 

 A) Stockholm B) Reykjavik C) Ottawa D) Norway 

 efkeMke JeÀer meyemes GÊejer jepeOeeveer JeÀewve-meer nw ? 
 A) mìe@JeÀnesce B) efjJeÌpesefkeJeÀ C) Deesìekee D) vee@ke&s 
 

124. What nationality was artist ‘Edgar Degas’? 

 A) Spanish B) Dutch C) French D) English 

 JeÀueeJeÀej 'S[iej [sieeme' efJeÀme jeä£er³elee JesÀ Les? 
 A) mhewefveMe B) [®e C) he´Àsb®e D) Debie´spe 
 

125. How is Dengue fever spread? 

 A) By mosquitoes B) By Dirty Water C) By coughing D) By touching 

 [sbiet yegKeej JewÀmes hewÀuelee nw? 
 A) ce®íjesb Üeje B) iebos heeveer mes C) Keebmeves mes D) ítves mes 
 

126. According to Moore’s law what doubles about every two years? 

 A) The known universe  B) Asia’s Population  

 C) Transistors on a microchip D)  Cells of human body 

 cetj JesÀ efve³ece JesÀ Devegmeej nj oes meeue cesb JeÌ³ee oesiegvee nes peelee nw? 
 A) %eele yeÏïeeb[  B) SefMe³ee JeÀer pevemebK³ee  
 C) ceeFJe´Àesef®ehe hej ì£ebefpemìj  D) ceeveke Mejerj JeÀer JeÀesefMeJeÀeSb 
 

127. Which of the following are living relative of manatees? 

 A) Elephants B) Hippopotamus C) Rhinoceros D) Crocodile 

 efvecveefueefKele cesb mes JeÌ³ee cewveeìer JesÀ peerefkele efjMlesoej nwb? 
 A) neLeer B) peuenmleer C) iewb[e D) ceiejce®í 
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128. Concorde was a cooperative venture between which two European Countries? 

 A) Britain and France  B) France and Germany 

 C) Britain and Germany  D) It was between these three countries not two 

 JeÀe@veJeÀe@[& efJeÀve oes ³etjesheer³e osMeesb JesÀ yeer®e SJeÀ menJeÀejer GheJe´Àce Lee? 
 A) efyeÏìsve Deewj he´Àebme  B) he´Àebme Deewj pece&veer  
 C) efyeÏìsve Deewj pece&veer  D) ³en Fve leerveesb osMeesb JesÀ yeer®e Lee, oes JesÀ yeer®e venerb 
 

129. Astraphobia is a fear of what? 

 A) Asteroids B) Thunder and lightning C) Heights D) Water 

 Smì£eheÀesefye³ee efJeÀmeJesÀ Òeefle [j nw? 
 A) #egê ie´n B) iepe&ve Deewj efyepeueer C) GÀb®eeF& D) heeveer 
 

130. Which country did Saddam Hussein invade in 1990 which lead to the Gulf War? 

 A) Kuwait B) Iran  C) Iraq D) Saudi Arabia 

 meÎece ngmewve ves 1990  cesb efJeÀme osMe hej DeeJe´ÀceCe efJeÀ³ee efpememes Kee›er ³egà ngDee? 
 A) JegÀkewle B) F&jeve C) FjeJeÀ D) meGÀoer Dejye 
 

131. Who was the Emperor of Japan at the time of the Pearl Harbour Attack? 

 A) Hirohito B) Yoshihito C) Mutsuhito D) Hiromuhito 

 heue& neye&j nceues JesÀ mece³e peeheeve JeÀe meceÏeì JeÀewve Lee? 
 A) efnjesefnlees B) ³eesMeerefnlees C) ceglmegefnlees D) efnjescegefnlees 
 

132. Which of these do not have bones? 

 A) Eels B) Snake C) Dolphins D) Sharks 

 Fvecesb mes efJeÀmecesb nef·³eeB venerb nesleer nwb? 
 A) F&ue B) meeBhe C) [eefuheÀve D) MeeJe&À 
 

133. Which famous children’s author did James Bond Author Ian Fleming write? 

 pescme yee@v[ JesÀ uesKeJeÀ F³eeve heÌuesefcebie ves JeÀewve mee Òeefmeà yeeue uesKe efueKee Lee? 

 A) Chitty Chatty Bang Bang B) The cat In the Hat 

 C) Charlie and Chocolate Factory D) Damsel in Distress 

 

134. In 1908 a massive 12 megaton meteor explosion flattened around 80 million trees in which region? 

 A) Alaska B) Siberia C) Amazon D) Antartica 

 1908 cesb 12 cesieeìve JeÀe SJeÀ efkeMeeue GuJeÀe efkemheÀesì efJeÀme #es$e cesb ueieYeie 80 efceefue³eve hes›esb JeÀes meheeì JeÀj ie³ee Lee? 
 A) DeueemJeÀe B) meeFyesefj³ee C) Deces]peve D) Debìeefì&JeÀe 
 

135. Who made 'Farmhouse in Provence' by? 

 A) Edgar Degas B) Claude Monet C) Vincent Van Gogh D) Pablo Picasso 

 heÀece&neGme Fve Òeeskesbme efJeÀmeJesÀ Üeje nw? 
 A) S[iej osieeme B) JeÌuee@[ ceesvesì C) efkebmesbì kee@ve iee@ie D) heyuees efheJeÀemees 
 

136. The moose is considered a symbol of which country? 

 A) Greenland B) Finland C) Canada D) Scotland 

 cetme JeÀes efJeÀme osMe JeÀe ÒeleerJeÀ ceevee peelee nw? 
 A) ie´erveuewb[ B) efheÀveuewb[ C) JeÀvee[e D) mJeÀe@ìuewb[ 
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137. What name is given to the large depression formed when a volcano erupts and collapses? 

 A) Caldera B) Conduit C) Chamber D) Cauldron 

 pkeeueecegKeer JesÀ heÀìves Deewj {nves mes yeveves keeues ye›s Ke·s JeÀes JeÌ³ee veece efo³ee ie³ee nw? 
 A) JeÀeu[sje B) JeÀefv[ì C) ®ewcyej D) JeÀe@u[£esve 
 

138. In Greek mythology who was the first woman on earth? 

 A) Athena B) Pandora C) Eve D) Masha 

 ie´erJeÀ heewjeefCeJeÀ JeÀLeeDeesb cesb heÉLkeer hej henueer ceefnuee JeÀewve Leer? 
 A) SLesvee B) hewb[esje C) F&ke D) ceeMee 
 

139. Which is the largest country in Africa? 

 A) Algeria B) Libya C) Angola D) Tanzania 

 Dehe´ÀerJeÀe JeÀe meyemes ye›e osMe JeÀewve mee nw? 
 A) Suepeerefj³ee B) ueerefye³ee C) Debieesuee D) lebpeeefve³ee 
 

140. What is the world’s hottest chilli pepper? 

 A) Scotch Bonnet B) Ghost Pepper C) Carolina Reaper D) Bhut Jolokia 

 efkeMke JeÀer meyemes leerKeer efce®e& JeÀewve meer nw? 
 A) mJeÀe@®e yeesveì B) Ieesmì heshhej C) JewÀjesefuevee jerhej D) Yetle peesueesefJeÀ³ee 
 

141. What is the farthest manmade object from the Earth? 

 A) Pioneer 5 B) Voyager 1 C) A tesla Car D) Bumper-WAC 

 heÉLkeer mes meyemes otj ceeveke efveefce&le kemleg JeÌ³ee nw? 
 A) hee³eefve³ej 5 B) kees³eepej 1 C) SJeÀ ìsmuee JeÀej D) yebhej-[yu³etSmeer 
 

142. Where can you find the sea of Tranquility? 

 A) The Caribbean B) Antarctica C) The Moon D) The Jupiter 

 meer Dee@heÀ ì£sveeJeÌkeefueìer JeÀneB hee³ee peelee nw? 
 A) JewÀjsefye³eve B) DebìeJeÀ&efìJeÀe C) ®eebo D) yeÉnmheefle 
 

143. Which spice comes from a crocus? 

 A) Allspice B) Saffron C) Mace D) Turmeric 

 Je´ÀesJeÀme mes JeÀewve-mee cemeeuee Òeehle neslee nw? 
 A) meejs cemeeues B) JesÀmej C) peeefke$eer D) nuoer 
 

144. What was the first vegetable grown in space? 

 A) Potato B) Carrot C) Onion D) Raddish 

 Debleefj#e cesb GieeF& peeves keeueer henueer meypeer JeÀewve meer Leer? 
 A) Deeuet B) ieepej C) h³eepe D) cetueer 
 

145. Which fruit in the capital city of Spain (Seville) is famous for? 

 A) Oranges B) Grapes C) Apricots D) Pummelo 

 mhesve JeÀer jepeOeeveer (mesefkeue) cesb JeÀewve mee heÀue Òeefmeà nw? 
 A) meblejs B) Debietj C) Kegyeeveer D) hegcesuees 
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146. In which year did humans first walk on the Moon? 

 ceveg<³e ves henueer yeej ®ebêcee hej efJeÀme ke<e& JeÀoce jKee Lee? 

 A) 1968 B) 1969 C) 1972 D) 1975 

 

147. Which country was the first to allow women to vote? 

 A) India  B) New Zealand 

 C) Austria  D) United States of America 

 ceefnueeDeesb JeÀes celeoeve JeÀer Devegceefle osves keeuee henuee osMe JeÀewve mee Lee? 
 A) Yeejle B) v³etpeeruewb[ C) Dee@meefì£³ee D) meb³egJeÌle jeä£ DecesefjJeÀe 
 

148. What nationality was aviator Amelia Earhart? 

 A) British B) American C) Canadian D) French 

 SefkeSìj Decesefue³ee F³ejneì& JeÀewve meer jeä£er³elee JeÀer Leer? 
 A) Debie´spe B) DecesefjJeÀve C) JewÀvesef[³eve D) he´Àsb®e 
149. What are baby Alpaca called? 

 A) Lambs B) Cria C) Kids D) Puppy 

 DeuheeJeÀe JesÀ ye®®es JeÀes JeÌ³ee JeÀne peelee nw? 
 A) cescevee B) efJe´ÀDee C) efJeÀ[dme D) heheer 
 

150. What is used to measure wind speed? 

 A) A barometer B) A pyrometer C) An Anemometer D) A seismometer 

 nkee JeÀer ieefle ceeheves JesÀ efueS efJeÀmeJeÀe Ghe³eesie efJeÀ³ee peelee nw? 
 A) SJeÀ yewjesceerìj B) SJeÀ hee³ejesceerìj C) SJeÀ Sveerceesceerìj D) SJeÀ meermceesceerìj 
 

151. Which institute has won UNESCO’s recognition for use of Information and Communication Technology in 

Education? 

 A) Central Institute of Educational Technology B) Central Board of Secondary Education 

 C) University Grants Commission D) All India Council for Technical Education 

 efMe#ee cesb met®evee Deewj meb®eej ÒeewÐeesefieJeÀer JesÀ Ghe³eesie JesÀ efueS efJeÀme mebmLeeve ves ³etvesmJeÀes JeÀer ceev³elee Òeehle JeÀer nw? 
 A) JesÀbêer³e Mewef#eJeÀ ÒeewÐeesefieJeÀer mebmLeeve B) JesÀbêer³e ceeO³eefceJeÀ efMe#ee yees[& 
 C) efkeMkeefkeÐeeue³e Devegoeve Dee³eesie D) DeefKeue Yeejleer³e leJeÀveerJeÀer efMe#ee heefj<eo 
 

152. Which state has announced to conduct a ‘Migration Survey’ to expand the data bank of expatriates? 

 A) Maharashtra B) Kerala C) Punjab D) Gujarat 

 efJeÀme jep³e ves Òekeeefme³eesb JesÀ [sìe yewbJeÀ JeÀe efkemleej JeÀjves JesÀ efueS 'Òekeemeve meke&s#eCe' JeÀjves JeÀer Iees<eCee JeÀer nw? 
 A) cenejeä£ B) JesÀjue C) hebpeeye D) iegpejele 
 

153. ‘Operation Sankalp’ which was seen in the news is associated with which armed force? 

 A) Indian Army B) Indian Navy C) Indian Air Force D) Indian Coast Guard 

 mecee®eejesb cesb osKee ie³ee 'Dee@hejsMeve mebJeÀuhe' efJeÀme meMem$e yeue mes mebyebefOele nw? 
 A) Yeejleer³e mesvee B) Yeejleer³e veewmesvee C) Yeejleer³e kee³eg mesvee D) Yeejleer³e leìj#eJeÀ 
 

154. Which company took over Ford’s passenger vehicle manufacturing plant at Sanand in Gujarat 

 A) Ola B) Tata Motors C) Mahindra and Mahindra D) Hyundai 

 iegpejele JesÀ meeCebo cesb heÀes[& JesÀ ³ee$eer keenve efvece&eCe meb³eb$e JeÀe DeefOeie´nCe efJeÀme JebÀheveer ves efJeÀ³ee? 
 A) Deesuee B) ìeìe ceesìme& C) ceefnbêe Sb[ ceefnbêe D) ngb[F& 
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155. What is the fiscal deficit recorded in India for 2021-2022 (in percentage of GDP)? 

 2021-2022 (peer[erheer JesÀ ÒeefleMele cesb) JesÀ efueS Yeejle cesb jepeJeÀes<eer³e Ieeìe efJeÀlevee ope& efJeÀ³ee ie³ee nw? 

 A) 7.51% B) 7.01% C) 6.71% D) 6.21% 

  

156. ‘Hurricane Agatha’, the first of the Pacific season, recently hit which country? 

 A) Argentina B) Canada C) Mexico D) Paraguay 

 ÒeMeeble ceewmece JeÀe henuee 'letheÀeve DeieeLee' neue ner cesb efJeÀme osMe cesb Dee³ee? 
 A) Depe&sbìervee B) JeÀvee[e C) cesefJeÌmeJeÀes D) hejeiegDee 
 

157. Frontier, the world’s fastest supercomputer, is developed in which country? 

 A) USA B) Russia C) China D) Israel 

 ogefve³ee JeÀe meyemes lespe meghej JebÀh³etìj he´Àbefì³ej efJeÀme osMe cesb efkeJeÀefmele efJeÀ³ee ie³ee nw? 
 A) DecesjerJeÀe B) ªme C) ®eerve D) FpejeFue 
  

158. Based on the definition of UN Charter how many Non-Self Governing Territories are still there? 

 meb³egJeÌle jeä£ ®eeì&j JeÀer heefjYee<ee JesÀ DeeOeej hej DeYeer Yeer efJeÀleves iewj-mkeMeemeer #es$e nwb? 

 A) 14 B) 15 C) 16 D) 17 

 

159. In which month of 2022, did the GST revenues crossed the Rs 1.40 lakh crore mark for the first time since 

inception? 

 A) February 2022 B) March 2022 C) April 2022 D) May 2022 

 2022 JesÀ efJeÀme cenerves cesb peerSmeìer jepemke ves mLeehevee JesÀ yeeo henueer yeej 1.40 ueeKe JeÀjes› ©he³es JeÀe DeebJeÀ›e heej efJeÀ³ee? 
 A) heÀjkejer 2022 B) cee®e& 2022 C) DeÒewue 2022 D) ceF& 2022 
 

160. Which states of India announced to impose a ban on single use plastic from July 2022? 

 A) Punjab and Himachal Pradesh B) Punjab and Haryana 

 C) Rajasthan and Himachal Pradesh D) Sikkim and Himachal Pradesh 

 Yeejle JesÀ efJeÀve jep³eesb ves pegueeF& 2022 mes efmebieue ³etpe hueeefmìJeÀ hej ÒeefleyebOe ueieeves JeÀer Iees<eCee JeÀer? 
 A) hebpeeye Deewj efncee®eue ÒeosMe  B) hebpeeye Deewj nefj³eeCee 
 C) jepemLeeve Deewj efncee®eue ÒeosMe D) efmeefJeÌJeÀce Deewj efncee®eue ÒeosMe 
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PART E: Computer Knowledge 

भागभागभागभाग    E: E: E: E: कं�यूटरकं�यूटरकं�यूटरकं�यूटर    �ान�ान�ान�ान    
 

161. Which function key needs to be pressed during reboot to enter in Safe Mode of a Window machine? 

 efkeb[es ceMeerve JesÀ mesheÀ cees[ cesb ÒekesMe JeÀjves JesÀ efueS efjyetì JesÀ oewjeve efJeÀme hebÀJeÌMeve JeÀer JeÀes oyeeves JeÀer DeekeM³eJeÀlee nesleer nw? 
 A) F8 B) F2 C) F1 D) F9 

 

162. Which one is an Example of connectionless protocols 

 A) TCP B) IPX/SPX C) Frame Relay D) UDP 

 JeÀewve mee SJeÀ JeÀvesJeÌMeve jefnle ÒeesìesJeÀe@ue JeÀe GoenjCe nw 
 A) ìermeerheer B) DeeF&heerSJeÌme/SmeheerSJeÌme C) he´Àsce efjues D) ³et[erheer 
 

163. Network Interface Card (NIC) is generally used for 

 A) Connectivity B) Programming C) Printing D) None of the above 

 vesìkeJeÀ& FbìjhesÀme JeÀe[& (SveDeeF&meer) Deeceleewj hej efJeÀmeJesÀ efueS Òe³eesie efJeÀ³ee peelee nw? 
 A) JeÀvesefJeÌìefkeìer B) Òeesie´eefcebie C) efÒebefìbie D) Fveces mes JeÀesF& Yeer venerb 
 

164. Which company first developed the Java programming language 

 A) Microsoft B) Google C) Sun Microsystems D) IBM 

 peekee Òeesie´eefcebie uewbikespe JeÀes meyemes henues efJeÀme JebÀheveer ves efkeJeÀefmele efJeÀ³ee? 
 A) ceeFJe´Àesmee@heÌì B) ietieue C) meve ceeFJe´Àesefmemìcme D) DeeF&yeerSce 
 

165. Who first developed QWERTY keyboard used in computers and phones? 

 A) Raphael Finkel  B) Wim Ebbinkhuijsen 

 C) Shafi Goldwasser  D) Christopher Latham Sholes 

 JebÀh³etìj Deewj heÀesve cesb Fmlesceeue nesves keeues QWERTY JeÀeryees[& JeÀes meyemes henues efJeÀmeves efkeJeÀefmele efJeÀ³ee Lee? 
 A) jehesÀue heÀefbJesÀue B) efkece SefyeveKegpemesve C) MeheÀer ieesu[keemesj D) efJe´ÀmìesheÀj uewLece Meesume 
 

166. Number of bit used by the IPv6 address 

 IPv6 S[£sme Üeje Ghe³eesie JeÀer peeves keeueer efyeì JeÀer mebK³ee nw 
 A) 32 bit B) 64 bit C) 128 bit D) 256 bit 

 

167. First computer virus is known as 

 A) Rabbit B) Creeper Virus C) Elk Cloner D) SCA Virus 

 henues JebÀh³etìj kee³ejme JeÀes efJeÀme ªhe cesb peevee peelee nw? 
 A) jwefyeì B) Je´Àerhej kee³ejme C) SuJeÀ JeÌueesvej D) SmemeerS kee³ejme 
 

168. Which one programming language is exclusively used for artificial intelligence? 

 A) C B) Java C) J2EE D) Prolog 

 JeÉÀef$ece yegefàceÊee JesÀ efueS efkeMes<e ªhe mes efJeÀme Òeesie´eefcebie Yee<ee JeÀe Ghe³eesie efJeÀ³ee peelee nw? 

 A) C B) Java C) J2EE D) Òeesuee@ie 
  

169. Which is a graphical representation of an application ? 

 A) Windows 95 B) Windows Explorer C) Icon D) Taskbar 

 SJeÀ SefhueJesÀMeve JeÀe ie´eefheÀJeÀue Òeefleªhe Fvecesb mes JeÀewve mee nw? 
 A) efkeb[espe 95  B) efkeb[espe SJeÌmehueesjj C) DeeFJeÀve  D) ìemJeÀyeej 
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170. The simplest CPU scheduling algorithm is 

 A) Multilevel Scheduling Algorithm B) FCFS Scheduling Algorithm 

 C) SJFS Scheduling Algorithm D) Round-Robin Scheduling Algorithm 

 meyemes mejue meerheer³et Mes[îetefuebie SuieesefjLece nw 
 A) ceuìerueskeue Mes[îetefuebie SuieesefjLece B) SheÀmeerSheÀSme Mes[îetefuebie SuieesefjLece 
 C) SmepesSheÀSme Mes[îetefuebie SuieesefjLece D) jeGb[-je@efyeve Mes[îetefuebie SuieesefjLece 
 

171. What do we call a network whose elements may be separated by some distance? It usually involves two or 

more small networks and dedicated high speed telephone lines. 

 Gme vesìkeJeÀ& JeÀes JeÌ³ee JeÀnles nwb efpemeJesÀ Sefuecesbìdme JeÀes JegÀí ef[mìsbme mes Deueie efJeÀ³ee pee meJeÀlee nw? Fmecesb Deeceleewj hej oes ³ee oes mes DeefOeJeÀ 
íesìs vesìkeJeÀ& Deewj meceefhe&le G®®e ieefle keeueer ìsueerheÀesve ueeFvesb Meeefceue nesleer nwb~ 

 A) URL B) LAN C) WAN D) WWW 

 

172. The central processing unit is an embedded chip that acts as the brains of a computer. What Intel chip was used 

in the Altair (the first real personal computer) ? 

 mesbì£ue Òeesmesefmebie ³etefveì SJeÀ Scyes[s[ ef®ehe nw pees JebÀh³etìj JesÀ efoceeie JesÀ ªhe cesb JeÀe³e& JeÀjleer nw~ Deuìs³ej (henuee efj³eue heme&veue JebÀh³etìj) cesb 
efJeÀme Fbìsue ef®ehe JeÀe Ghe³eesie efJeÀ³ee ie³ee Lee? 

 A) 6502 B) 8080 C) 6400 D) 8286 

 

173. Which of the following is(are) true of the EDP auditors? 

 A) They should have computer expertise 

 B) They will be replaced by traditional auditors in the near future 

 C) Currently, there is a very high demand for them, particularly from firms that use personal computers 

 D) None of the above 

 F&[erheer uesKeehejer#eJeÀesb JesÀ efueS efvecveefueefKele cesb mes JeÀewve mee mel³e nw? 
 A) GveJesÀ heeme JebÀh³etìj efkeMes<e%elee nesveer ®eeefnS 
 B) efveJeÀì Yeefke<³e cesb Gvnsb heejbheefjJeÀ uesKee hejer#eJeÀesb Üeje ÒeeflemLeeefhele efJeÀ³ee peeSiee 
 C) kele&ceeve cesb, GveJeÀer yengle DeefOeJeÀ ceebie nw, efkeMes<e ªhe mes Gve heÀcees&b mes pees heme&veue JebÀh³etìj JeÀe Ghe³eesie JeÀjleer nwb 
 D) Fveces mes JeÀesF& Yeer venerb 
 

174. A lockbox service is used for 

 A) Depositing cash when bank is closed B) Paying bank customer bills automatically 

 C) Storing papers in a bank vault D) Depositing payments to bank customers 

 uee@JeÀyee@JeÌme meskee JeÀe Òe³eesie efJeÀmeJesÀ efueS efJeÀ³ee peelee nw? 
 A) yewbJeÀ yebo nesves hej veJeÀo pecee JeÀjvee B) yewbJeÀ ie´enJeÀ JeÀes mke®eeefuele efyeueesb JeÀe Yegieleeve JeÀjvee 
 C) yewbJeÀ JeÀer eflepeesjer cesb JeÀeiepeele pecee JeÀjvee D) yewbJeÀ ie´enJeÀesb JeÀes Yegieleeve pecee JeÀjvee 
 

175. Critical path of the PERT chart is: 

 A) Path which takes the longest time to complete the project 

 B) The shortest path 

 C) Path which takes the shortest time to complete the project 

 D) None of the above 

 heerF&Deejìer ®eeì& JeÀe cenlkehetCe& heLe nw: 
 A) heLe pees heefj³eespevee JeÀes hetje JeÀjves cesb meyemes DeefOeJeÀ mece³e ueslee nw 
 B) meyemes íesìe heLe 
 C) heLe pees heefj³eespevee JeÀes hetje JeÀjves cesb meyemes JeÀce mece³e ueslee nw 
 D) Fveces mes JeÀesF& Yeer venerb 
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176. An EOQ formula is an example of a(n) 

 A) Optimizing model  B) Static model C) Deterministic model D) All of the above 

 F&DeesJeÌ³et met$e efJeÀmeJeÀe SJeÀ GoenjCe nw? 
 A) Dee@efhìceeFef]pebie cee@[ue B) mìsefìJeÀ cee@[ue C) ef[ìefce&efveefmìJeÀ cee@[ue D) GÀhej JesÀ meYeer 
 

177. The ___ is a business-oriented data-processing association which publishes a monthly journal, Data 

Management. 

  ___ SJeÀ k³ekemee³e-GvcegKe [sìe-ÒemebmJeÀjCe mebIe nw pees SJeÀ ceeefmeJeÀ heef$eJeÀe, [sìe ÒeyebOeve ÒeJeÀeefMele JeÀjlee nw~ 
 A) DPMA B) CDP C) CISA D) ACM 

 

178. The primary tool used in structured design is a 

 A) Structure chart B) Data-flow diagram C) Program flow chart D) Module 

 mebjef®ele ef[peeFve cesb Òe³egJeÌle ÒeeLeefceJeÀ GheJeÀjCe nw 
 A) mì£JeÌ®ej ®eeì& B) [sìe heÌuees [e³eie´ece C) Òeesie´ece heÌuees ®eeì& D) cees[îetue 
 

179. Which of the following is not a factor in the failure of the systems developments projects? 

 A) Size of the company 

 B) Inadequate user involvement 

 C) Failure of systems integration 

 D) Continuation of a project that should have been cancelled 

 efvecveefueefKele cesb mes JeÌ³ee efmemìce efkeJeÀeme heefj³eespeveeDeesb JeÀer efkeheÀuelee JeÀe JeÀejJeÀ venerb nw? 
 A) JebÀheveer JeÀe DeeJeÀej   
 B) Dehe³e&ehle Ghe³eesieJeÀle&e Yeeieeroejer 
 C) efmemìce SJeÀerJeÀjCe JeÀer efkeheÀuelee   
 D) Ssmeer heefj³eespevee JeÀer peejer jKevee efpemes jÎ JeÀj efo³ee peevee ®eeefnS Lee 
 

180. Something which has easily-understood instructions is said to be .................. 

 A) Analog data B) Digital data C) Modem data D) Watts data 

 pees efveo&sMe Deemeeveer mes mecePe cesb Dee peeles nwb, Gmes ................. JeÀnles nwb~ 
 A) Sveeuee@ie [sìe  B) ef[efpeìue [sìe C) cees[sce [sìe D) keeìdme [sìe 
 

181. What key hardware item ties a CAD/CAM system together? 

 A) Mouse B) Graphics workstation C) Digitizer D) Plotter 

 JeÀewve meer ÒecegKe ne[&kes³ej DeeFìcme meerS[er/meerSSce efmemìce JeÀes Deeheme cesb pees›leer nw? 
 A) ceeGme B) ie´eefheÀJeÌme keJeÀ&mìsMeve C) ef[efpeìeF]pej D) huee@ìj 
 

182. Most application software today comes with an interface called a(n)............... 

 A) graphical user interface B) character user interface 

 C) icon user interface  D) button user interface 

 DeefOeJeÀebMe SefhueJesÀMeve mee@heÌìkes³ej Deepe SJeÀ FbìjhesÀme JesÀ meeLe Deeles nwb efpemes ...............JeÀne peelee nw~ 
 A) ie´eefheÀJeÀue ³etpej   B) JewÀjsJeÌìj ³etpej FbìjhesÀme  
 C) DeeFJeÀve ³etpej FbìjhesÀme   D) yeìve ³etpej FbìjhesÀme 
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183. “GUI” stands for .......................... 

 A) Gnutella Universal Interface B) Graphic User Interface 

 C) Graphic Uninstall/Install D) General Utility Interface 

 peer³etDeeF& JeÀe DeLe&  nw~ 
 A) iegìsuee ³etefvekeme&ue FbìjhesÀme  B) ie´eefheÀJeÀ ³etpej FbìjhesÀme  
 C) ie´eefheÀJeÀ DeveFbmìe@ue/Fbmìe@ue  D) pevejue ³etefìefueìer FbìjhesÀme 
 

184. ASCII and EBCDIC differ in  

 A) Their efficiency in storing data  

 B) The random and sequential access method 

 C) The number of bytes used to store characters  

 D) Their collecting sequences 

 ASCII Deewj EBCDIC cesb Deblej neslee nw 
 A) [sìe mebie´nerle JeÀjves cesb GveJeÀer o#elee cesb 
 B) jwb[ce Deewj meerJeÌkesbefme³eue SJeÌmesme cesLe[ cesb 
 C) JewÀjwJeÌìj JeÀes mebie´nerle JeÀjves JesÀ efueS Ghe³eesie efJeÀS peeves keeues yeeFìdme JeÀer mebK³ee cesb  
 D) JeÀuesefJeÌìbie meerJeÌkesbme cesb 
 

185. A diagram that illustrates the core (Logic) of functions in a program called a 

 A) Flowchart B) Sequence of steps C) Direction of flow D) All of the above 

 SJeÀ [e³eie´ece pees SJeÀ Òeesie´ece cesb hebÀJeÌMeve JesÀ Deesj (uee@efpeJeÀ) JeÀes efoKeelee nw Gmes JeÀne peelee nw 
 A) heÌuees®eeì& B) ®ejCeesb JeÀe Je´Àce C) heÌuees JeÀer efoMee D) GÀhej JesÀ meYeer 
 

186. In which group do we work at the time of text formatting in word ? 

 A) Table, Paragraph and Indexes B) Paragraph, Indexes and Sections 

 C) Characters, sections and paragraphs D) Indexes, characters and tables 

 ke[& cesb ìsJeÌmì heÀe@ce&sefìbie JesÀ mece³e nce efJeÀme ie©he cesb JeÀece JeÀjles nwb ? 
 A) ìsyeue, hewjeie´eheÀ Deewj Fb[sJeÌme  B) hewjeie´eheÀ, Fb[sJeÌme Deewj mesJeÌMeve 
 C) JewÀjsJeÌìj, mesJeÌMeve Deewj hewjeie´eheÀ D) Fb[sJeÌme, JewÀjsJeÌìj Deewj ìsyeue 
 

187. Which of the following contains information about a single “entry” in the database – like a person, place, event 

or thing ? 

 A) query B) form C) record D) yable 

 efvecve cesb mes efJeÀmecesb [sìeyesme cesb efmebieue Sbì£er - pewmes SJeÀ k³eefJeÌle, mLeeve, Ieìvee ³ee ®eerpe cesb JesÀ yeejs cesb peeveJeÀejer nw? 
 A) JeÌkesjer B) heÀe@ce& C) efjJeÀe@[& D) ìsyeue 
 

188. When creating a word-processed document, this step involves the user changing how words on the page 

appear, both on the screen and in printed form ......................... 

 A) Editing text  B) Inserting tables and Indexes 

 C) Formatting text  D) Proofing documents 

 ke[& Òeesmesm[ [e@JeÌ³etcesbì yeveeles mece³e, Fme ®ejCe cesb ³etpej hespe hej Meyo, oesveesb mJe´Àerve hej Deewj efÒebìs[ ªhe cesb JewÀmes efoKeeF& osbies ............. 
 A) Sef[efìbie ìsJeÌmì  B) Fbmeefì&bie ìsyeue Sb[ Fb[sJeÌme  
 C) heÀe@ce&sefìbie ìsJeÌmì  D) ÒªefhebÀie [e@JeÌ³etcesbì 
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189. Programming a robot by physically moving it through the trajectory you want it to follow is called 

 A) Contact sensing control B) Continuous path control 

 C) Robot vision control  D) Pick and place control 

 SJeÀ jesyeesì JeÀes YeewefleJeÀ ªhe mes Gme Òe#eshekeJe´À hej ues peeJeÀj Òeesie´eefcebie JeÀjvee efpemeJeÀe Deehe Gmemes DevegmejCe JeÀjkeevee ®eenles nwb, Gmes JeÀnles nwb 
 A) JeÀebìsJeÌì mesbefmebie JebÀì£esue  B) JebÀìerv³etDeme heeLe JebÀì£esue  
 C) jesyeesì efke]peve JebÀì£esue  D) efheJeÀ Sb[ huesme JebÀì£esue 
 

190. Microsoft Office is an example of a .............................. 

 A) closed source software  B) open source software 

 C) horizontal market software D) vertical market software 

 ceeFJe´Àesmee@heÌì Dee@efheÀme ........................ JeÀe SJeÀ GoenjCe nw~ 
 A) JeÌueesp[ meesme& mee@heÌìkes³ej  B) Deesheve meesme& mee@heÌìkes³ej  
 C) ne@efjpee@vìue ceeJeÀsÀì mee@heÌìkes³ej D) keìer&JeÀue ceeJeÀsÀì mee@heÌìkes³ej 

 

191. In a rule based system, procedural domain knowledge is in the form of : 

 A) Production rules B) Rule interpreters C) Meta-rules D) Control rules 

 SJeÀ efve³ece DeeOeeefjle ÒeCeeueer cesb, ÒeefJe´À³eelceJeÀ [escesve %eeve efJeÀmeJesÀ ªhe cesb neslee nw? 
 A) Glheeove efve³ece B) efve³ece DevegkeeoJeÀ C) cesìe-efve³ece D) efve³eb$eCe efve³ece 
 

192. The identification of common sub expression and replacement of run-time computations by compile-time 

computations is 

 A) Local optimization B) Loop optimization C) Constant folding D) Data flow analysis 

 meeceev³e Ghe-DeefYek³eefJeÌle JeÀer hen®eeve Deewj mebJeÀueve-mece³e mebieCeveeDeesb Üeje jve-ìeFce mebieCeveeDeesb JeÀe ÒeeflemLeeheve nw 
 A) ueesJeÀue Dee@efhìceeFpesMeve B) uethe Dee@efhìceeFpesMeve C) JeÀebmìsbì heÀesefu[bie D) [sìe heÌuees Sveeefueefmeme 
 

193. The graph that shows basic blocks and their successor relationship is called 

 A) DAG B) Flow graph C) Control Graph D) Hamiltonion Graph 

 ken ie´eheÀ pees yegefve³eeoer yuee@JeÀ Deewj GveJesÀ GÊejeefOeJeÀejer mebyebOe JeÀes oMe&elee nw, JeÀnueelee nw 
 A) [erSpeer B) heÌuees ie´eheÀ C) JebÀì£esue ie´eheÀ D) nwefceuìefve³eve ie´eheÀ 
 

194. A non relocatable program is the one which 

 A) Cannot be made to execute in any area of storage other than the one designated for it at the time of its 

coding or translation 

 B) Consists of a program and relevant information for its relocation 

 C) Can itself perform the relocation of its address sensitive portions 

 D) All of these 

 SJeÀ vee@ve efjueesJesÀìsyeue Òeesie´ece ken nw  
 A) pees FmeJesÀ JeÀesef[bie ³ee ì£ebmeuesMeve JesÀ mece³e FmeJesÀ efueS efveefo&ä mìesjspe JesÀ Deueekee efJeÀmeer Yeer Dev³e peien SJeÌmeerJeÌ³etì venerb efJeÀ³ee pee meJeÀlee 

nw 
 B) efpemecesb FmeJesÀ efjueesJesÀMeve JesÀ efueS SJeÀ Òeesie´ece Deewj ÒeemebefieJeÀ peeveJeÀejer nesleer nw 
 C) pees Deheves helee mebkesoveMeerue Yeeieesb JeÀe efjueesJesÀMeve mke³eb JeÀj meJeÀles nwb 
 D) ³es meYeer 
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195. Local and loop optimization in turn provide motivation for 

 A) Data flow analysis B) Constant folding C) Peep hole optimization      D) DFA and constant folding 

 ueesJeÀue Deewj uethe Dee@efhìceeFpesMeve yeoues cesb efJeÀmeJesÀ efueS ÒesjCee Òeoeve JeÀjles nwb 
 A) [sìe heÌuees Sveeefueefmeme B) JeÀebmìsbì heÀesefu[bie C) heerhe nesue Dee@efhìceeFpesMeve           D) [erSheÀS Deewj JeÀebmìsbì heÀesefu[bie 
 

196. An optimizing compiler 

 A) Is optimized to occupy less space B) Is optimized to take less time for execution 

 C) Optimizes the code  D) All of the above 

 SJeÀ Dee@efhìceeFef]pebie JeÀcheeFuej 
 A) JeÀce peien Iesjves JesÀ efueS Dee@efhìceeF]pe neslee nw B) SJeÌmeerJeÌ³etMeve JesÀ efueS JeÀce mece³e uesves JesÀ efueS Dee@efhìceeF]pe neslee nw 
 C) JeÀes[ JeÀe Dee@efhìceeF]pe JeÀjlee nw D) GÀhej JesÀ meYeer 
 

197. Algorithm is 

 A) It uses machine-learning techniques. Here program can learn from past experience and adapt themselves to 

new situations 

 B) Computational procedure that takes some value as input and produces some value as output 

 C) Science of making machines performs tasks that would require intelligence when performed by humans 

 D) None of these 

 SuieesefjLece JeÌ³ee nw 
 A) ³en ceMeerve-ueefve&bie leJeÀveerJeÀesb JeÀe Ghe³eesie JeÀjlee nw~ ³eneb Òeesie´ece efheíues DevegYeke mes meerKe meJeÀlee nw Deewj Kego JeÀes veF& heefjefmLeefle³eesb JesÀ 

DevegJetÀue yevee meJeÀlee nw 
 B) JeÀch³etìsMeveue ÒeefJe´À³ee pees Fvehegì JesÀ ªhe cesb JegÀí ceeve uesleer nw Deewj DeeGìhegì JesÀ ªhe cesb JegÀí ceeve Glhevve JeÀjleer nw 
 C) ceMeerve mes Ssmes JeÀece JeÀjkeeves JeÀe efke%eeve pees ceeveke Üeje efJeÀS peeves hej yegefà JeÀer DeekeM³eJeÀlee nesleer nw 
 D) Fvecesb mes JeÀesF& venerb 
 

198. Data mining is 

 A) The actual discovery phase of a knowledge discovery process 

 B) The stage of selecting the right data for a DD process 

 C) A subject oriented integrated time variant non-volatile collection of data in support of management 

 D) None of these 

 [eìe ceeFefvebie JeÌ³ee nw 
 A) %eeve Keespe ÒeefJe´À³ee JeÀe keemleefkeJeÀ Keespe ®ejCe 
 B) [er[er ÒeefJe´À³ee JesÀ efueS mener [sìe ®egveves JeÀe ®ejCe 
 C) ÒeyebOeve JesÀ meceLe&ve cesb [sìe JeÀe SJeÀ meypesJeÌì DeesefjSbìs[ Fbefìie´sìs[ ìeFce kewefjSbì vee@ve-keesuesìeFue JeÀuesJeÌMeve 
 D) Fvecesb mes JeÀesF& venerb 
 

199. Related fields in a database are grouped to form a 

 A) Data file B) Data record C) Menu D) Bank 

 [sìeyesme cesb mebyebefOele #es$eesb JeÀes mecetnerJeÉÀle JeÀj yevee³ee peelee nw 
 A) [sìe heÀeFue B) [sìe efjJeÀe@[& C) cesv³et D) yewbJeÀ 
 

200. The word processing feature that catches most random typographical errors and misspellings is known as 

_____ 

 A) Grammar Checker B) Spell Checker C) Word Checker D) None of these 

 ke[& Òeesmesefmebie heÀer®ej pees meyemes jwb[ce ìeFheesie´eheÀefJeÀue Sjj Deewj ieuele mhesefuebie JeÀes heJeÀ›lee nw Gmes _____ JesÀ ªhe cesb peevee peelee nw 
 A) ie´ecej ®esJeÀj B) mhesue ®esJeÀj C) ke[& ®esJeÀj D) Fvecesb mes JeÀesF& venerb 
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